——
N = 0] &F AF S & AN A
20188 = 20 A LB H TAJBMSISEE ANFTAHS ~ TAH2EHSEE2E ZMSHS 2
SN CHRBMSEZE AYCHR
M BTSN 2Y
ool BFEARTAZY B2 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
TNEHMSEESEE AlE A2 7,613,893 11,291,019 N3,677,126
=2 157,629
Xl 2,170,000
& 124,201
Al 5,162,063
2242 24 4,204,361 4,015,802 188,559
= 157,629
o 124,201
Al 3,922,531
HFEANE A2 222 2,275,747 1,532,334 743,413
o 18,000
Al 2,257,747
S A2 AR A 22 166,793 124,318 42 475
201 et 9| 2,640 10,000 AT,360
01 AP 2t 2] d| 2,640 10,000 AT,360
OAN&ESX&C XS A 440,000& * 6 2,640
206 M = Hl 14,180 14,164 16
01 XHZ Hl 14,180 14,164 16
OHA=EXNM(HCER 25)
100,000 * 38 * 50 1,500
O&EIIANE 2A2ES 3,600
OF&EXHI L HOIZ BHEIIFRE
15,000& * 604 900
O=xti&Eet HIIF Y dBARX]
25,000& * 60H 1,500
ONEs=z0E #xZ U otN™I|IF
40,000& = 30H 1,200
OJIAHAEH 2223 4,300
OS&A 233232 2 105 20,0008 * 404 800
Ol 2SHA 2 155
20,000€ = 4004 800
Od2e A=H 60,000& = 30H 1,800
Ooxs gwes 30,000 * 60 * H5JH A& 900
OAEYAAE 2A2IES 3,000
OAL3gI| 23td HHE
60,000 * 5J0 = 5J0 A 1,500
ORrES 60,000 * 5J0 = H5J0 A&~ 1,500
Ozx== % &L 2223 1,780
O=Egd s 30,000 * 8L * K5I A& 1,200
O&a=H 10,000& » 8L = 5 A 400
(@ R=1g= 1,4983 * 24L » 5004 180
401 A& H L 20l 149,973 100, 154 49,819
01 Al&H| 149,973 100, 154 49,819
OJIAHANE SXNEF 12,750




2N

 —
=
X ZXH: 2
=R IR
X

Ce HFANEZAZY 2el2Z (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O3J1x3 4l 1,400,000 = 67| 8,400
Ostis+= =4 100,000& * 150K 1,500
OSti= & & =EAIE
400,000& * 404 2 1,600
omIzgd |LE &4 50,0002 = 25CH 1,250
O&IINEE RAE=S 12,500
OX% % HMIEANE RANE>
1,500,000& * 5JH & 7,500
O=d&Hl ®XNE= 1,000,000 = 504 A 5,000
OAEAE RANES(ASSHHEXID)
1,300,000 = 50 A& 6,500
OAMEBEMZ HAE&EHI RAE>
2,500,000& « 1CH 2,500
odde) |FXNE+ 21,000
ONBEM2 HdSI] A2
4,500,000& = 27| 9,000
OANEEZAM2 SUEI| M2
40,0003 = 1000H 4,000
OAMAE HHHI] AIH
2,000,000& * 400 £ 8,000
OANEEZAN2 B2D EHLA 4,100
Olblsgd 110,000& * 30H 3,300
oxZelgd 20,000& = 4004 800
oHE FANE=> 41,623
OANEEMZ 3,058& = 5,370m 16,422
(OF=g=g-=p R 2,349% « 2,681m 6,298
OFAE M2 2,3493 « 2,623m 6,162
OEAsx+T A 1,259 * 8,338m 10,498
OEE M2 1,259& * 1,781m 2,243
OaEAS+=E N2 E=UAHAUHEX
12,000,000& * 1JH 2 12,000
OEA3g WA 33,000
OANEZ M2 (162&) 22,000,000& * 1002 22,000
OFAT A Z(1027) 11,000,000& * 1JH 2 11,000
ORET M2 2tE AX]
4,000,000&  10H 2 4,000
ANEES 2d2e 620,890 581,358 39,532
201 Lt 2| 105, 100 85,971 19,129
01 At 22l 101,292 81,842 19,450
oOgRUE==2 99,392
OsZJl EJIEA 138,600& * 9O 1,248
OsZ) A==
229,000& = 90§ ~ 123 24,732
Ogstatel Hdlex==2
370,000& * 5IH A = 123] 22,200




2N

 —
=
X ZXH: 2
=R IR
X

Ce HFANEZAZY 2el2Z (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O&EJ|otE e e+ 2 30,372
Al & & A 2 (800kW) 700,000& = 123 8,400
—&HE & N 2 (500kW) 412,000& = 12& 4,944
-& 2 & N2 (450kW) 309,000& = 123 3,708
-QES T M2(970kW)  920,000& * 12& 11,040
-Q & & M2 (275kW) 190,000& » 12& 2,280
oad M2 HIILH FIIEZ
850,000& * 20 A 1,700
OaUZBI 28 =F(2M2)
1,000,000& =* 22| 2,000
OJFA HIIZAL £42  100,0008 * 13| 100
O=U 242 2BAAN(NY.54)
100,000& * 23| 200
OM=Zx ZHAMANEY, &)
100,000& * 23| 200
OFA YA S 352,000 * 54 * 43 7,040
OLESHT M2 US| (GHP) 2l g
800,000& * 12& 9,600
OfI8un= 1,390
OFSPIRIFSEE =i DN} 100,000& * 19 100
O33J1& Yatael it 180,000& * 5% 900
Os2dJ| et el Xt 30,000& * 34¥ 90
OAMEAE S+H 22| Xt 300,000& = 1H 300
O M2 AlZ 22Xt 1=l 450
o= 90,000& = 3H 270
OetE 3t 60,0002 » 3H 180
O&#AEZ=Zzd Ad0lE 60,000& = 13l 60
02 =24l 3,808 4,129 A 321
OAetME 3 50,000& = 5H 250
Os=dZ I =283l 100,000& * 19 100
OHIMLHI| HE(BR)
1,286 * 200c2l& = 104 258
O2Y43a HA(T0E ANY, 285 2)
800,000& * 204 * 23 3,200
206 TH 2 HI 8.690 5,787 2,903
01 MHZ 4l 8,690 5,787 2,903
Ost&EA o HALAEE(5F) 8,000,000& 8,000
od-2xJ =5Z 16,5002 » 202 A 330
o4 JNsEHI B3 360
Ol (th) 100,000& * 29+ A 200
Ol (4) 80,000& * 29+A 160
307 21201 A 504,000 489,600 14,400
05 RIZt2IEt = 504,000 489,600 14,400




2N

 —
=
X ZXH: 2
=R IR
X

O HFAEEZARY A2 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFHALEX 2,800,000& * 156% = 12& 504,000
405 RHoHE S HI 3,100 0 3,100
01 XA 2 EFH S| 3,100 0 3,100
ONMES AXNESISI (MY, 2LES )
450,000 = 2CH 900
OARA HNIAZAR(LEEZ M)
300,000& = 304 900
OARA ZH(LEZAR) 300,000& = 14 300
OOISAME(ABEZAMR) 200,000 = 54 1,000
U-EEEAMZ olZet 235 1,037,184 612,678 424,506
201 LB-2E| 499,734 504,678 AN4,944
01 At 2t 2|l 50,010 45,870 4,140
OB0oE Al ATEYH Al 31,270
OpPcE 32,0002 = 45004 14,400
OMH Z (Windows Server) 400,000& * 25JH 10,000
OMBH & (Linux Server) 1,200,0002 * 54 6,000
OAhnLab Policy Center 870,000& * 1JH 870
OPCE A2ZENH 7L 660,000& * 20K 13,200
OQHYMEIA OO MMES 140,000& 140
OZMHOIX &FHes 0I8= 3,000,000& 3,000
ORXNEa MOt HOb MA¢
300,000& = 8YH 2,400
02 8323l 449,724 458,808 A 9,084
OSE ¥ L&sHH 22l
500,000& = 9JH A& 4,500
OZMZelAIAE H/W,S/W 2 XI22|(328)
3,466,000& » 12& 41,592
OEAMZ WEYD &L 2orFdl K22l (11H
2,158) 8,951,000& = 12& 107,412
ORFID AIAE RX22l (1204, 105)
12,529,000& = 12& 150,348
OCCTV AlAE X2l (10012)
2,382,000& = 12& 28,584
ONSIWEAIAE S22l (3002)
977,000& = 12& 11,724
OEMHOIXl |22l (38) 1,057,000& » 128 12,684
OPC & Zgle SA2el(120)
3,275,000& = 12& 39,300
OFESUA 2 L SUEH X Zal(12KH
2) 4,465,000& = 12& 53,580
206 M=l 6,800 6,800 0
01 =8l 6,800 6,800 0
OXAAIE2e| XX 6,800
Oogs 2 s A2 6,000& = 200m 1,200




2N

Hu: ZTCAB 2Y
FANEEAA22 2229 )
A ZE a9 (3) - HRAY - By Ol &+ o4 SSa HmEET
O&EAH(PC) TIH MEZet0l 90,0008 * 15JH 1,350
OXMALZE(G1EQ 5F)
50,000& * 5& = 13 250
ORSZEEJATX HiHel  200,000& = 2004 4,000
401 AIEHI L 2CHEI 230,000 23,700 206,300
01 A& HI 230,000 23,700 206,300
ONMBEANZ =5 2&5EH ux
130,000,000 * 1JH 2 130,000
OMYTANZ == CCTVEUI(32I1) WAl
100,000,000& * 1JH 2 100,000
405 XtatE SHI 300,650 77,500 223,150
01 HatH ESFH S 300,650 77,500 223,150
Oz FH 1,400,000 * 25CH 35,000
OBLIH 250,000& = 2504 6,250
OSAII(HIZAHZ) 5,500,000& =« 1CH 5,500
OZUZEEH(FE M) 3,500,000& * 2CH 7,000
OANU (MBS, S 500,000& =« 2CH 1,000
OYUEZ=ZAMH(MYEZAM2) 29,000,000& * 1CH 29,000
Ok= ZetEdl XA 102,800
OagT M2t ggsts  43,000,000& = 1CH 43,000
Oage M2 HUXAIAEH
40,000,000& « 1CH 40,000
OZEHIRHM(AE, &)
4,950,000 =+ 4CH 19,800
O N2 L4ARAX 24,500,000& = 204 49,000
O A2 RFIDZEHI WX 65,100
Oodla=zxEeld/etolH 2,750,000& = 204 5,500
OXsUEBHE DI 25,000,000& =« 1CH 25,000
OWRIZEAIMNY 500,000& = 10CH 5,000
OFNEZDI 5,000,000& = 3CH 15,000
O3ds =Zed 3,300,000& = 2CH 6,600
OHA=D] 8,000,000& = 1CH 8,000
et h2 =4 289,080 173,930 115,150
101 @124l 40,620 16,790 23,830
04 JIZHHZ2XNESE S+ 40,620 16,790 23,830
H2EN2 =3lALA Q24|
65,3803 * 2% * 26 » 103 33,998
c4liEd = 3,422
O=2d3 33,998,000 * 4.5% 1,530
(OFaR= )= 33,998,000& * 3.06% 1,041
OFEINQYEH 1,041,000& * 6.55% 69
OneE:d 33,998,000& * 1.5% 510
OMTHEH 33,998,000& * 0.8% 272




2N

 —
=
X ZXH: 2
=R IR
X

Ce HFANEZAZY 2el2Z (&)
2 S 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=2AtN HEESHI
20,0003 = 6 * 10& = 29 2,400
OYE S Ottl 200,000& = 2Y « 23] 800
201 et 15,600 18,300 A2,700
01 At 22l 3,400 15,000 211,600
OZdHIHE 70,0003 = 2004 1,400
oOX2ENZ 2= 10,0002 *» 2002 2,000
03 &Ar2 I 12,200 3,300 8,900
A2 EEZ203  500,0003 * 8 4,000
OJIgH2EMS HOIte SENME
1,300,000 * 3JH £ 3,900
oOX2E M2 EHE 2 W= 3,600
OLM=E 500,000& = 3H =« 23| 3,000
O M HI 300,000& = 23| 600
ORHRSTHT HF AASY
70,0002 * 5H « 23| 700
301 et d = 960 840 120
09 HALAHIEA S 960 840 120
ONSTHZ SAR A
8,000& = 30¥ = 43 960
307 gl2tol & 114,000 53,000 61,000
02 It HAHEE 114,000 53,000 61,000
OFSE M2 2dH X 71,000
OZY 2z M2 X (AS3)
5,000,000& * 242 10,000
O2Y 2T A2 NR(BS)
4,000,000& * 72 28,000
O2Y 2T A2 NA(CSS)
3,000,000& * 11042 33,000
oOX2EM2 220 d 2EXE
1,000,000 * 1000 £ 10,000
OXZ2EN2 SAs0te 2EXE
1,000,000 = 50 A& 5,000
ONST A AAMX RIE X
6,000,000 = 23l 12,000
OS2 N2AE2ASG HEMIX 2 XA
16,000,000& * 13l 16,000
402 RIZEXHE 0 A 112,000 85,000 27,000
01 U2 EALE X (XA MR) 112,000 85,000 27,000
OXSTHE TAH L NIt PYXE
4,000,000& * 2874 A 112,000
405 RHoHE S HI 5,900 0 5,900
01 AL EZFH S 5,900 0 5,900
OLES 1,500,000& = 2CH 3,000




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OBEIZZAEEH(0IzA!) 2,900,0008 ~ 1N E 2,900
M2 2 SH AR AY 60,000 24,000 36,000
& 18,000
Al 42,000
405 RHoHFE S HI 60,000 24,000 36,000
& 18,000
Al 42,000
02 & A 22| 60,000 0 60,000
o2 TANAFY X& 60,000,000 60,000
= 18,000
Al 42,000
S NZ 22 32,400 16,050 16,350
201 et 9| 28,400 12,050 16,350
01 AP 2t 2| H| 18,400 12,050 6,350
OEMBHZH &40 H& 70,000& = 1504 1,050
OEANE EEESE MZE 20,000& * 15004 3,000
OSMEE RN EE 150,000 * 154 2,250
OEZHZ SRy MW 212
,050,000& * 2& 12,100
03 A2 G HI 10,000 0 10,000
OFFNZRR SHIY 29
1,000,000 * 103 10,000
203 R F & 4,000 4,000 0
03 AIZH =X 2= X H| 4,000 4,000 0
OENE 29 gR2FX 4,000,000& 4,000
MNSHR HAHIA 69,400 0 69,400
201 gEt24Hy| 5,400 0 5,400
01 AP 22| d| 5,400 0 5,400
OASUHIAHIA MAANSEOOIRS)
200,000& = 12042 2,400
o222 300& * 10,0008 3,000
307 212t0| & 64,000 0 64,000
05 QIZtREZ 64,000 0 64,000
ONSUX MHlAESH (022 IHEH1H)
64,000,000 64,000
ANEZAS 89 681,889 771,505 N89,616
= 35,774
= 22,358
Al 623,757
ANEEAH2 NHEES 172,964 324,164 A 151,200
201 et 9| 34,164 34,164 0
01 AP 22| H| 34,164 34,164 0




CHRBMSSES ARCAB
ZZHE 29
NEEMHZ 29
SA - ZE-B(EA) - NRAY - B S il &t o il
OFIIUHZ F=2 34,164
Os¢X 15,0002 * 22O At * 122 3,960
OX X 13,000 * 19 AL » 123 2,964
O=F2tX 5,000& * 15J0 Ab * 52=F 3,900
OE2tX 11,000& » 12000 A » 128 15,840
O=UWst=/ Xl =2t CIoIEHolA 2t 018
= 7,500,000& * 13| 7,500
206 M= Hl 8,800 20,000 A 11,200
01 =8l 8,800 20,000 A 11,200
OkAN HelES 8,800
ORFID TAG 500& = 8,800H 4,400
octg =X 9& 500& = 8,800H 4,400
405 TtHakF S| 130,000 270,000 A 140,000
02 TN 130,000 270,000 A 140,000
O&AM 130,000
LT A 12,500& * 8,800 110,000
OXNZE=(ZEHOIXIAMHIA)
50,000& = 400& 20,000
MNEEAZ EEZ20H 24 73,920 132,850 A 58,930
201 LBH2d| 67,960 126,110 A 58,150
03 A2 Z Hl 67,960 126,110 A 58,150
oM 232 29 40,910
OZ MY
35,000 * 2AI2F = 2200 Bt * 243| 36,960
OF=E o 70,000& = 1504 1,050
Os=3¢ 2,900
-2 &X 1,500,000& * 1JH 2 1,500
-3¢ o 70,0002 = 204 1,400
O A2 =2t AL 850,000& = 13l 850
OSMNALY HA 2,500,000& = 13l 2,500
O=NZEs 23 = 23,700
Oty elE3 M 2,000& = 1,0000H 2,000
O=EM23NE S22 WA
2,000& = 2,0000H 4,000
Og+=% 70,000& = 104 700
OE2Y ARE Y
100,000& = 7& * 43| 2,800
OXE&IF 2AH3 300,0008 = 298 = 123 7,200
OOt Z208 A=
100,000& = 2H = 253| 5,000
OthZz=dE M SEHA 2,000& * 1,00004 2,000
206 T 2 bl 1,800 1,800 0




2N
X ZH -
L= B

el

> 0 H
oy x
H e

ZUSSEE AYEAD
Nt 2y
N2t 2

A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 il 2
01 =8l 1,800 1,800 0
oSsTzIY 29 Ml
300,000& = 38 * 23l 1,800
LEtE A= 3,360 4,940 A 1,580
09 HALAHIEAS 3,360 4,940 A 1,580
OFstZ2 08 XA SAX 24l
8,000& = 30¥ » 14« 3,360
405 XHoHF S HI 800 0 800
01 At ESFH S 800 0 800
O=23twa 24 400,000& = 204 800
Mz Jzgsgd 2 157,094 109, 606 47,488
101 @124 dl 81,344 70,541 10,803
04 JIZHHZ22XREE S 81,344 70,541 10,803
SE42F &0 23,256
ool 60,2403 * 1 = 26 » 123 18,795
C42E = 1,893
-=20AHZ 18,795,000& = 4.5% 846
-AAEE 18,795,000& * 3.06% 576
B3I eLEE 576,000& = 6.55% 38
-1ESE 18,795,000& * 1.5% 282
-MHEE 18,795,000& * 0.8% 151
OZFE=FItHI 200,000& * 23 400
O=XNEQE 300,000 300
OCE&Z 1,868,000 1,868
onzdel ¥ =2 Uz4d 2Fod 58,088
ool 60,2403 = 3Y * 26 « 113 51,686
C42E = 5,202
-=20AHZ 51,686,000& * 4.5% 2,326
-AH2EE 51,686,000& * 3.06% 1,582
B3I RLEE 1,582,000& * 6.55% 104
-Ng2d 51,686,000& * 1.5% 776
-MHEE 51,686,000& * 0.8% 414
OZFE=JItHI 200,000& = 3Y = 23] 1,200
201 LB-2d| 8,680 7,610 1,070
01 At 2t 2l 7,750 6,700 1,050
O Ma AAX 2,000& = 3,000% 6,000
OdIZ=N2U3l &Ity
100,000& » 109 * 13 1,000
OXESALA =7 15,0002 * 504 750
02 =224l 930 910 20
(©F=pcil] 930




SN CHRBMSEZE AYCHR
M ZDCHDY 29
el NRIEAE 29 CEEEED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
Ost=2== M 360,000 360
O A& 450,000& 450
Os=s3c M2 120,000& 120
206 M = Hl 17,250 12,450 4,800
01 X2 Hl 17,250 12,450 4,800
OANIESENHE 3,000& = 4004 1,200
OXZ Al AFQIAIAEYS 100,000& * 10JH 1,000
OEAN E£LE2 HE 150,000& * 102 1,500
ORFID EHO(E42) 500& * 50074 250
oXNsUHsEEE) g4+ X
3,000& * 2002 600
oxXI(MEUEE) 40,000& * 3004 1,200
OAIE2E |2t A 20,000& * 2504 500
CIEEEES 6,500
O&EIHE 1,500& = 3,0004 4,500
Oateel = 80,000& = 204 1,600
odleEaccy 10,000& * 404 400
ONZHMEE 10,000 * 504 500
OFIIUHHEE AEIFH 1,000& = 2,0004 2,000
odEXza 29 XXM 1,800
odleA 35,000& * 204 700
(OF]E=a= 15,000 * 204 300
oA 15,000 = 204 300
Osl=4 (oo & ) 50,0008 = 1074 500
OBXEZEHE SXl 20,000& * 102+ A 200
301 dEtE A= 8,320 6,240 2,080
09 HAIAH EA=S 8,320 0 8,320
O AME2 NRASALL ES4a
0,000& = 4% * 104 8,320
405 XHo&HF S HI 41,500 11,400 30, 100
01 AL =S EF SHI 41,500 11,400 30, 100
oitz4a &HIIF¢ 34,000
OBH23d =S A At 800,000& * 2004 16,000
OB&EAHD e 18,000,000& = 1CH 18,000
OAZEHOE EXZEHe 7,500,000& = 104 7,500
MCHE BEANSSHN 94,400 94,300 100
201 Bt A | 91,000 91,100 A 100
01 At 22l Yl 1,000 8,000 A7,000
OAIEE DN HE 2,000& x 5008 1,000
03 S AIS H HI 90,000 83, 100 6,900




\I|_./ o o o o o o o o o Y] Te) Y] o o o o o o
o_ﬂ_ o o o o o o o [0)) © © o o o o (o) (<o)
.. L._u N [eN] [eN] o) o) (o)) (V) [eV) [eV] <t
% N Ye) Ye) Ye)
5 Klo
=1 #=
E=]
o o o o o o o o () o o o o o o o o
o o o o QQ o o () o o o o)
© [¢e) [¢e] (<o) [e6) [o0) [o6) © © o) [Ye) o
NN o | © |© N
H3r SN IRl R
m<l
RS
o o o o o o o o o o o o o o o o [Ye) o) Y] (o)) (<o) © [e ] o) ()] [e 0] o o o o o o o o ()
o o o o o o o o o o o o o o o o N~ © [Co) [QN) [ep] N~ Al (ep) Ye) [ep] o o o o o o o © [¢e]
o N [N} — — N~ [aN] [oN] [oN] Yo Yo} <t — ™ (o)} ()] [ — — — — — — < <t
[e)) Ye) Ye) Ye) o) ™ — — —
aor
<
=
o o] &} &) ol ol ol ol 58 5 3 5 i =
o o~ 2 © - N o = <~ 2% 2 s o 3
* X x x X x [ep] © ()
oir ) o " m o 3 B . oo 27 i ~
0 S S B 5 S S 9 A W gy o B @ ol x
S S o — S S o © o 0 N o o o
o (&) Al (@) — — (e} o o o o o o =
ey . . x - o S & © & O S oF)
X S S _ S .o g - s 22 g g s ~8
S IS o on S A oJ A o ©o & & S re}
1 . =L o S ) or od &o NN NN AN — Ko
mr O < S =9 al S o 80 — - N o - - fo
= ~ ms < o S 8 0 « = == —
o+ fwo RS S @ _ - o
= | [ P 3¢ <V od [
< |* ¥ 2 — - W 00
ol iy < = [ PN =
Q _ K0 — — = - Bl
— =< i) i = b= o 2
= |w = w o) 5 | ® d oo M Y
0 0= JF | oy o K- Lt 0
ol o = w o o o Mo Uy o
el L o 20 K- KE Hr N ROR %_ = ° y M B 8 @ 8 D =
B B o of |0 | ®O ®0 _|= (= || = =z |F W m @ & Mo N HA - 70
o0 ol 1) Al |z W I %_. |80 M| |z 10 H | A n = T I o} =]
o N i S |3 8 |H | oF ok e N KU I T (T | D | M = M &R DR =Y T |3 X
Eiley! ® & 7= T T = I = =) Dl || R RlW ™|~ R = O O O O O 1 o+ o W =<
xTx| R |o Z|E Ol |® O © o |an|® © |au | © ©|lw|a|s © © © = Z|E O #0
Ut U S |5 =k Ml s kS 5|3 S |5 S |5 3
[0 wD & 1) o | ® <+ | = I 139
o X
Ao < o+ oh =
& oF
70 T




> 0 H
oy x
H e

x x 0"

Jo
]S
r
i
>
w
H
x
il

I 1 0
D 0

02 08

SA BB (SH) - NRAY - B ﬁlgﬁ HRE2
O=EANAE2 XANIFSALA &S 4|
20,000 ~ 2 = 104 4,160
405 XHA&HF S HI 7,950 3,900 4,050
01 XA 2 ZF S H| 1,700 900 800
OANIIZY 1,700
o722 = A A D} 850,000& * 2 1,700
02 = A7 6,250 3,000 3,250
OEANTY 12,5008 * 500& 6,250
AN A2 JH2AIZ2E HES2H 92,236 86,705 5,531
= 35,774
= 22,358
Al 34,104
101 2121 H| 92,236 86,705 5,531
2 35,774
= 22,358
Al 34,104
04 JI2ZtHIZ22NEE S 92,236 86,705 5,531
OJI2ZHMZ22X B4(49) 89,436,000 89,436
= 35,774
= 22,358
Al 31,304
OZ2XEZoE & HESIY| 700,000 = 4% 2,800
M A2 2 301,820 305,270 N 3,450
= 31,302
= 22,358
Al 248,160
MNEEAHA2 NS ES 111,960 122,760 A 10,800
201 Yete2 | 14,760 14,760 0
01 AP 22| H| 14,760 14,760 0
OFIUHME =S 14,760
[OESZN| 15,000€ = 150 AF = 12&€ 2,700
O Xl gt Xl 13,000 = 100 AF = 128 1,560
OF 2t 5,0008 = 1500 AF = B2== 3,900
Og 2t 11,000& = 505 = 128 6,600
206 TH 2 Hl 7,200 8,000 A800
01 X2 H| 7,200 8,000 A 800
OENAE2ES 7,200
ORFID TAG 500 = 7,200H 3,600
Octd X2 9= 500€ * 7,200H 3,600
405 XHoHE S 90,000 100,000 10,000
02 & AR 90,000 100,000 A 10,000
O& A 12,500& * 7,200& 90,000




2N
X ZH -
L= B

el

SHRBNSSES AYTHD
2T 2Y
NPENE 29

A - ER(EN) - AR - B of & o4 SSa HIDZ2
d2AM2 2EZ208 29 28,760 28,230 530
201 £et23E | 27,160 26,830 330
01 At 22l bl 2,500 2,500 0
OsSMH=2% 2,000& » 800% 1,600
oMt EES 2,000& » 450% 900
03 A2 24,660 24,330 330
O=SMEsZ20Y 29 20,810
OB A=
35,0008 * 2AI2t = 12J0 8t = 243 20,160
O 70,0003 » 50K 350
oA22337¢ 300,000& * 13l 300
O M& F2He A} 850,000& * 13 850
O=Kog A 1,000,000 * 13 1,000
QFJl ots=¢ =F¥3d 500,000& = 43 2,000
301 eetE = 1,600 1,400 200
09 AMAHIEAS 1,600 1,400 200
OSMEs T8 HEFSAA =4
8,000& * 10 = 202 1,600
NYTHE NP 29 56,492 56,657 A 165
101 @124 8] 38,727 33,597 5,130
04 DIt Z22XsE+ 38,727 33,597 5,130
OXtzdcd & F2Ngd 2324
60,2403 = 2% » 262 * 11& 34,458
o428 = 3,469
O=8d¢= 34,458,000& * 4.5% 1,551
OALE=EE 34,458,000& * 3.06% 1,055
oFINA=LE 1,055,000& * 6.55% 70
(ONIE=--4=" 34,458,000& * 1.5% 517
Ot HES 34,458,000& * 0.8% 276
OEEF Oyl 200,000 * 2% * 23 800
201 2ot 2 Y| 2,335 1,830 505
01 AtR 2t 2l | 2,070 1,570 500
oZgH &Y 220,000 = 54 1,100
O=AIl EYH 260,000& = 14 260
O=Al &4 500,000& = 194 500
O=AEX 21,0008 » 109F & 210
02 832gHl 265 260 5
O &8 altl 265
Ost=2= M2 115,000& * 13/ 115
O3 A2 150,000& * 1%l 150
206 TH 2 HI 7.110 6,310 800




SH CHBHMSSEE ANYCAHDB
HH: ZDCHY 29
el AYEHE 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 & bl 7,110 6,310 800
CIE RS 1,500& = 2,5004 3,750
OJtEel = 80,000& * 10H 800
OX= &l AloI= 100,000& * 54 500
OCINEXgsa IIEBER 25
20,000& * 385 = 12& 720
OETNEs+E HOolZ 150,000& * 22 300
oONsUsetd) g+ X 3,0008 * 80= 240
OXIED(MNEUHEE) 40,000& * 2074 800
301 dBtE A= 8,320 8,320 0
09 HALAHIEA S 8,320 0 8,320
O MAC KNIASAX sS4
0,000& * 49 * 104 8,320
MAYT A2 AIE2S X 22 12,372 10,918 1,454
201 LEt2 Y| 4,374 4,794 N 420
01 AFR2t2ldl 2,400 3,000 A 600
OR021&H| 200,000& = 12& 2,400
02 3524l 1,974 1,794 180
oY -2 A2l 35,0008 = 3CH = 128 1,260
OdSIE HA 14,000& * 518 714
206 M = Hl 7,998 6,124 1,874
01 X bl 7,998 6,124 1,874
O3t L HAEE(4S) 4,200,000& 4,200
od -2 SEH 16,5003 * 128t A 198
ORE NsSEEI 2B2F 360
Odl< () 100,000& = 28t A 200
OHl (a) 80,000& * 2&8+A 160
OMMEE(51E2 55) 50,0008 * 65 * 43| 1,200
OAIE2E It A 20,000& * 104 200
O MBAE AICI= 1,840
OOl =Xt EXIE 400,000 * 24 800
O HFUEXE 440,000& = 104 440
O8x=%XF=U S 200,000& * 3= 600
MYTHE HBAIZL B2 92,236 86,705 5,531
= 31,302
= 22,358
Al 38,576
101 @121l 92,236 86,705 5,531
= 31,302
= 22,358
Al 38,576
04 JIZtHI2E2NEE = 92,236 86,705 5,531




SN CNRBASSEE AYCHR
Hu: ZTCAB 2Y
ool AYEAE 29

SA BB O () - MM - HES il 2
OJIZZtHZZ X E4=(4Y) 89,436,000& 89,436
= 31,302
< 22,358
Al 35,776
O=XEZE Y FEZFItHl  700,000& * 4H 2,800
HATAN2 2Y 334,688 306,742 27,946
=2 39,128
< 27,948
Al 267,612
HFEACAZ H=2Es 111,960 111,460 500
201 Lt 2| 14,760 14,760 0
01 At 2t 2|l 14,760 14,760 0
oOFJItYEE 7= 14,760
OsLX 15,000 * 15JH AL » 123 2,700
OXI&X 13,0002 * 1004 AF = 122 1,560
O&2HX 11,000 * 500 AL » 12& 6,600
O=2tX 5,000& * 15JH Ab * 523 3,900
206 T 2 bl 7,200 7,000 200
01 =8l 7,200 7,000 200
OZANHFEE BIE 7,200
ORFID TAG 500& * 7,2004 3,600
Octd X2 95 500& = 7,20004 3,600
405 RHoHE S HI 90,000 89,700 300
02 = A=l 90,000 87,500 2,500
OEM-Y 12,5002 * 7,200 90,000
HACAHZ 23 T2 29 29,210 26,310 2,900
201 L2l 27,610 24,910 2,700
01 At 22l 3,200 3,200 0
oO=sM-ZE M 2,0002 » 800% 1,600
O M2 oty elE3 2,000&  800% 1,600
03 A2 Z Hl 24,410 21,710 2,700
OEAMZ 2tZ208 24 20,810
OL Mg
35,0003 = 2A12t = 1204 Bt * 243] 20,160
Oog=9 M= 70,0002 = 54 350
OCEzZ2d82d 223l 300,000& = 13| 300
OZ M2 =2t AL 800,000& = 13l 800
OSMaAY A 800,000& = 12| 800
Otz =& 39 500,000 * 23| 1,000
O&I} =834d 500,000& = 23| 1,000
301 L2 A F 1,600 1,400 200




SH CHBHMSSEE ANYCAHDB
HH: DDA 29
el M2 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
09 HALAHIEA S 1,600 1,400 200
OFstZ2 08 XNJASAX 24l
8,000& = 10 » 20¢ 1,600
A2 HESg8E 23 65,261 49,627 15,634
101 @14 Hl 38,727 33,597 5,130
04 JIZHHZ2XNHEE S 38,727 33,597 5,130
ONEHE U FL FRA g0l
0,2403 = 2% + 26 ~ 113 34,458
c4liEd = 3,469
o383 34,458,0008 * 4.5% 1,551
(OFalg-h= 34,458,000& * 3.06% 1,055
OFIAEE 1,055,000& * 6.55% 70
OneE:d 34,458,000& * 1.5% 517
OuTHEH 34,458,000& * 0.8% 276
OZFE F Il 200,000& = 2H « 23| 800
201 £B-2d| 2,305 1,830 475
01 At 22l 2,040 1,570 470
oO=ZgH EUY 220,000& = 504 1,100
O=AIl EH 260,000& = 204 520
O=AMEX 21,0003 » 20 A 420
02 2324l 265 260 5
O&altl 265
Ost=2 M2 115,000& 115
OB M2 150,000& 150
206 = Hl 10,490 8,040 2,450
01 =8l 10,490 8,040 2,450
oHsEzaS 5,940
OUsE3tE 1,500 = 3,000H 4,500
O3teel2 80,000& = 1504 1,200
Odl&E=aely 10,0002 * 244 240
OXZ &l AFCIAIAE 100,000& * 20K 2,000
OZNE+=E HOZE 150,000& * 28 300
OMItE=EUHE 3,000& = 1004 300
oOnsStHEEEI g2 X
3,000& = 1008 300
OAMSE A 20,000& * 1004 200
otxgixzs 2SXM 650
Odl EA 35,000& * 1004 350
OJI8E 15,000& * 104 150
ObteA 15,0002 * 104 150
OHRUDI(HNEUHEE) 40,000& = 2004 800




SH CHBHMSSEE ANYCAHDB
HH: DDA 29
el HACAHB 29 CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDE2
301 dEtEAZ 4,160 4,160 0
09 AAH 2 A2 4,160 0 4,160
OEME2 RAZAMT Ayl
20,000 » 29 « 104 4,160
405 XH&HF SHI 9,579 2,000 7,579
01 A&t = S F SHI 9,579 2,000 7,579
oselza = &I WM 1,200
ogegs ok 80,000& = 150H 1,200
ootsitza == &I WM 4,845
OgeEs Hol2 435,000& = 3CH 1,305
ogeEs XN 80,000& * 18H 1,440
oges A€ 140,000& = 1504 2,100
OodolssEas =5 &I WA 3,150
O2ol Xt 90,000& = 354 3,150
OXzal AIt7¢ 384
O3&H SHAL M I 96,000& * 44 384
HIATNHZ AIESR X2l 12,962 10,964 1,998
201 et A | 5,472 5,472 0
01 AFR 2t 2l dl 3,000 3,000 0
OR21&H| 250,000& « 12& 3,000
02 35244l 2,472 2,472 0
oY - 247 A2l 34,0008 * 40H = 128 1,632
O&dSE HA 14,000& * 60E 840
206 M = Hl 7,490 5,492 1,998
01 X2l 7,490 5,492 1,098
OAlE AtCIS 100,000& = 2004 2,000
OFMARE(AER 35F)
50,000& * 3&F * 23] 300
OsIda L HAEE(4S) 4,500,000& 4,500
OR& NsEEI A2B2F 360
OBl (th) 100,000& * 28t A 200
odlg (a) 80,000& * 28+ A 160
od - -2x) SEY 16,5003 * 20t A 330
HATHE HBAI o2y 115,295 108,381 6,914
= 39,128
T 27,948
Al 48,219
101 @124 115,295 108, 381 6,914
= 39,128
T 27,948
Al 48,219
04 JI2ZtH22XNHEE =+ 115,295 108,381 6,914




SH CHBHMSSEE ANYCAHDB
HH: DDA 29
el HACAHB 29 CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OJIZ2ZtHZ22 X E2(5YH) 111,795,000& 111,795
= 39,128
o= 27,948
Al 44,719
OSXEAE L HEFIHY| 700,000 = 5% 3,500
PESHEENE 2H 384,242 659, 645 N 275,403
= 31,302
= 22,358
Al 330,582
QESHEENE INESES 144,360 451,260 306,900
201 LBt A H| 14,760 46,260 A 31,500
01 At 22l b 14,760 46,260 A 31,500
OFIN2UHE =2 14,760
O3 X 15,000& = 1500 Al = 12€ 2,700
ORI &I 13,000 = 100 AF = 12&€ 1,560
OE 2t 11,000& = 5000 AF = 12& 6,600
OZF=2tX] 5,000& * 1500 AF * 523 3,900
206 M = dl 9,600 30,000 AN 20,400
01 & bl 9,600 30,000 AN 20,400
OENE2ES 9,600
ORFID TAG 500& * 9,600H 4,800
Octdg X 2 9= 500& * 9,600H 4,800
405 KHo&HFE S HI 120,000 375,000 A 255,000
02 T A7 120,000 375,000 A 255,000
oM7L 12,500& * 9,600 120,000
QESLCTAHE 2HT2IY 2 30,110 25,750 4,360
201 Bt A H| 29,310 25,050 4,260
01 At 2t2l ] 3,600 1,600 2,000
oOsMHML2Z2H 2,000& = 800% 1,600
O=N3 SEHE 20,000& * 1005 2,000
03 S AIS H H 25,710 23,450 2,260
OsSMSIEZ IS 29 21,860
OZA=E
35,0003 x 2A12F = 1200 8F * 243] 20,160
O8 =58t 70,000& * 204 1,400
OZg ) 2IARE 100,000& = 3& 300
O M2 =2t AL 1,000,000& = 13l 1,000
OSAHoY At 850,000& = 13| 850
oots=2¢t =329 500,000 = 43| 2,000
301 LBt A= 800 700 100
09 HALAHIBEA= 800 700 100




SH CHBHMSSEE ANYCAHDB
HE: BTCHY 29
S RQFSATHY 2Y (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
O=SAN2Z2 08 NIFSALA 24|
8,000& * 10¥ * 103 800
PQESTTAZ Y 2Y 97,583 78,626 18,957
101 @121l 58,088 50,396 7,692
04 JI2ZtHZ2E2XNEE S 58,088 50,396 7,692
oAzl € =L Azaay o
0,240 * 398 » 262 * 11& 51,686
o4U=EE = 5,202
O=01Hz 51,686,000& * 4.5% 2,326
OA&dEE 51,686,000& * 3.06% 1,582
OILUYEE 1,582,000& * 6.55% 104
Oons:ed 51,686,000& * 1.5% 776
OMHEE 51,686,000& * 0.8% 414
OZE&E FIth| 200,000 = 3YH = 23| 1,200
201 Bt A H| 2,560 2,060 500
01 At 22l Yl 2,050 1,570 480
oZelH EY 220,000& * 6H 1,320
O=AI EY 260,000& = 24 520
O=Z2AEX 21,000& * 102+ A 210
02 33294l 510 490 20
O g3yl 510
Ost=z M2 360,000& 360
OB A& 150, 000& 150
206 M = Hl 12,575 8,730 3,845
01 M= bl 12,575 8,730 3,845
OEANUEIAS 6,600
ousote 1,500& = 3,0004 4,500
gz Oell 22 80,000& * 204 1,600
Odle3aely 10,000 * 504 500
OXz &l Atol= 100,000& = 2004 2,000
ONZM=2E 10,000 * 30H 300
OETNES+E HOolZ 150,000& * 28 300
OXNsSUHERIED = 21
3,000& * 1502 450
o= 3,000& = 504 150
OLIXNEX=za 29X 975
(@) E=s 35,000& * 1504 525
(OFI=a= 15,000 = 1504 225
(@) E==s 15,0002 * 1504 225
OAIZ2& I8t A 20,000& = 304 600
OHMIED(MNEUHEE) 40,000& = 304 1,200
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2N
X ZH -
L= B

el

FO 01 HN

NBBMssRe AYSAHB
BTN 2Y
N2 29

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
= 20,123
& 11,179
Al 194,673
QECANZ NEES 85,540 300,940 N 215,400
201 et A H| 9,940 30,940 A 21,000
01 AFR2 22l Yl 9,940 30,940 A 21,000
oOFJIIZHZE PS5 9,940
O 15,000 * 10JHAF = 128 1,800
O Xl & Xl 13,000& * 1000 AF x 12& 1,560
O& 2t 11,000& * 405 + 12& 5,280
OF2HX 5,000& * 5JHAF x B2=F 1,300
206 M =8l 5,600 20,000 A 14,400
01 X2 bl 5,600 20,000 A 14,400
OEANE2ES 5,600
ORFID TAG 500& * 5,600H 2,800
Octd S X2 9& 500& * 5,6000H 2,800
405 XtabF SHI 70,000 250,000 A 180,000
02 & A7 70,000 250,000 180,000
OEANTY 12,500& = 5,600 70,000
QECANT 2Ty 29 27,430 27,290 140
201 LEr2 Y| 26,630 26,590 40
01 At 22l Yl 2,800 3,200 A 400
OsSMNML2E 2,000& x 7008 1,400
O ME ot 228 2,000& = 7008 1,400
03 M AtE L 23,830 23,390 440
OsSMSsE)H 29 19,130
O2Z A=
35,000& * 2A12F = 11JBF * 243] 18,480
@)=E==4 70,000& * 54 350
OEz)dH 2HAL2E 300,000& * 13 300
O A2 F2tSH A 850,000& * 13 850
OSsAMAY A 850,000& * 13 850
O&IIx=d 2dH 500,000& * 23] 1,000
o0ts=2t =359 500,000& =* 43| 2,000
301 dBtE A= 800 700 100
09 HAtAHIEA S 800 700 100
OR2stTz 08 XA SALA 24|
8,000& * 10¥ =« 103 800
QBN HELTY 2Y 56,262 58,347 £2,085
101 @121 38,727 33,597 5,130
04 J|ZtH2ZNEE S 38,727 33,597 5,130




SH CHBHMSSEE ANYCAHDB
M BDCHY 29
Sel: QFENY 2Y (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
onedel o 52 Ned 280
0,240 * 29 » 262 = 11& 34,458
o4 = 3,469
O=0lHz 34,458,000& * 4.5% 1,551
OHZLEH 34,458,000& * 3.06% 1,055
O&IYEE 1,055,000& * 6.55% 70
onssd 34,458,000& * 1.5% 517
OMTHEE 34,458,000& * 0.8% 276
O Y& FIthI 200,000 * 2H = 23| 800
201 et A | 1,835 1,830 5
01 AFR2 2t 2l dl 1,570 1,570 0
oZelH EYH 220,000& * 504 1,100
OZ2AJ] EY 260,000& = 1JH 260
o=sAMEX 21,000& * 102+ A 210
02 33249l 265 260 5
O g3l 265
Ost== M 115,000& * 13 115
O A& 150,000& = 13| 150
206 M = Hl 6,180 4,630 1,550
01 = bl 6,180 4,630 1,550
OENUEIAS 1,830
OU&EItE 1,500& + 800H 1,200
OogzZelH 2l 80,000& * 6IH 480
ogzzZele Aacy 10,000& = 150H 150
OXg &l Atol= 100,000& = 2004 2,000
OCIXNEXza IEE=Q 25 55,0008 * 104 550
O¢uEZMEE 10,000 * 504 500
OEANES+E HOlZ 150,000& * 28 300
OXNsUHsEEIE) 945 X
3,000& x 1002 300
OAIE SHE 3,000& = 1004 300
OHIE|(MBUEE) 40,000 * 107K 400
301 dEtE A= 8,320 6,240 2,080
09 HALAHIEA= 8,320 0 8,320
O ANE2 KNJASAL 2SA|
0,000& * 4 * 104 8,320
405 XH&kE S| 1,200 12,050 A 10,850
01 AL =S EF SHI 1,200 12,050 A 10,850
O=EH 400,000& * 3CH 1,200
QETAZ AIEES KX 2 10,625 10,376 249
201 2yt 2 Y| 5,700 6,414 AT14
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SH CHBHMSSEE ANYCAHDB
H: TBEAD IIBAL =5
et BRCAHB AY CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
03 A& 2 0HbI 5,000 15,000 A 10,000
OZ2&XN T T A2 A S A 20
5,000,000& 5,000
INBXNT EN2AHE 350,000 0 350,000
350,000
401 Al B 20 HI 350,000 0 350,000
350,000
01 A& HI 350,000 0 350,000
OINEXNT? TAH2 HEZA 350,000,000& 350,000
350,000
HHSHAEH (AT NSIESEE AETAD) 1,234,532 1,275,217 N40,685
ol 2| 458,403 435,417 22,986
[Slals] 458,403 435,417 22,986
101 @121l 458,403 435,417 22,986
01 2= 273,683 257,050 16,633
OANZ2AZRY 273,683
Oty 10,0033 * 76Y = 30Al2+ = 12& 273,683
02 JIEt®8 2% 106,641 103,911 2,730
OANZ2AZRY 75,624
OB Mtz HAMES
10,0033 * 2 = 30Al2t = 128 7,203
O A& HAMES
10,0033 * 19 = 30Al2F = 128 68,421
OAZRAZ2 LS (LIH S)
10,0033 * 49 = 30Al2t » 128 14,405
osgze=4g 16,612
Oz N2 (HAH) 81,4303 » 29 x 1022 16,612
03 I HL22 NHE 78,079 74,456 3,623
OANEENE SR8 B 78,079
oJ=3 1,902,010& * 2% * 12& 45,649
o224 100,000 * 29 x 128 2,400
O&AxE 70,0008 * 2% = 128 1,680
OIFAH X & Hl 160,000& * 29 x 128 3,840
O&FMZ A 150,000& * 29 = 128 3,600
Ons=2xy| 150,000& * 29 x 128 3,600
o= 150,000& * 29 = 43| 1,200
OY &SIyl 1,236,400& * 2% * 23] 4,946
OxU=22x 178,000& * 29 = 128 4,272
[@F~In/PANe: b= 600,000& * 2H 1,200
OA I &t 83,280& x 2% x 20 3,332
ons==4g 960
- 2 Xt 40,000 * 1 = 12& 480




SH CHBHMSSEE ANYCAHDB
B BHSARU(CHREMSSER ANYCTHD)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
-JIEILE 20,0003 = 29 » 12& 480
OXMESHEESY
350,000& * 1Y = 427 1,400
JlEZl 776,129 839,800 A 63,671
JlE2&l 776,129 839,800 A 63,671
201 LBt2d| 713,779 788,960 AT5,181
01 At 22l 53,120 37,148 15,972
OJl=ge=das3H (JIE34l)
500,000& = 409H 20,000
o=sgd (OIE&dl)
8,000& » 508 = 8 « 12& » 80% 30,720
OFAZE 22= 120,000& » 109 * 23 2,400
02 =24l 660,659 751,812 A 91,153
oORTURS 3,345
OBt 300& = 1,500 450
O3l 1,930& » 1,500 2,895
ONnSIEE 900,000& =« 2CH 1,800
O Xt XHAl 150,000& = 200 = 23l 600
OZNERLE S (ANSK)
50,000& = 208 = 23l 200
Oxg |57, H ¥ A2 FH|
6,551,000& = 1CH 6,551
OXN= A =X el
3,700,000 = 10CH * 6% 2,220
od.220 sXlzel(Ag)
36,7003 = 504 ~ 123 2,202
OZ3JIHEZI S22l (M)
29,9004 = 90§ ~ 123 3,230
OANE N2 R2o13H| 300,000& = 12& 3,600
OREEesz 32,4503 « 704 ~ 123 2,726
ONARLB(ANEY &Y HR 2F) 190,355
OJleead 6,3703 * 404 » 183kw » 123 55,955
OANEER2=
1002 * 404 » 28,000kw * 12 134,400
ONBERLB (ST AR) 69,909
OJI2e=z 6,370& » 10 * 475kw » 128 36,309
OoANEER2=
1002 * 1JHA » 28,000kw * 122 33,600
(OFS e e =1 1,860& = 1,600m » 12& 35,712
OXNGHELIB(AIEY) 35,159
OJlegs 3623 = 635mcal » 128 2,759
OMBERS 90,000& = 30Gcal * 12& 32,400
OEANINARS 950& * 6,000m = 123 68,400




SN CHRBMSEZE AYCHR
HE: HNR YA (CANBBYSSER ANYTAHD)
& 123l (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OLBtEsL Y SMSR B (1294 4)
1,500,000& * 12& 18,000
OEANBENHA M2B3H AIBE
18,000,000& * 12& 216,000
OIHSPE MEESEE(3E 2L )
650,000& 650
202 O4dl 46,080 39,960 6,120
01 = LH 4 Hi 46,080 39,960 6,120
O©JI=ZH
20,0003 » 409 = 82 * 128 * 60% 46,080
203 YR =&l 16,270 10,880 5,390
01 1222 =4H| 6,000 3,300 2,700
OJNFEAH(42) 6,000,000& 6,000
02 A Jtatg =2 4,150 2,960 1,190
OJlEA 4,150
O 100 Nt X 40,000& = 100 4,000
O 101~400H 30,000& = 5H 150
04 FENSEHR=LH| 6,120 4,620 1,500
OJI&EN 6,120
OJ12(300l35t) 400,000& = 12& 4,800
O=1H(31210]4H) 5,000& * 22% = 128 1,320
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A & 0l & A & F Al
20188 &= E0l& Lol SHZBYHSISER AEENMNZ ~ & SMels=2] Bysisa
SN CHRBMSEZE Q&C AR
M BIZCHB 2
Chelr s M2 29 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
CHREASSER QBN 3,297,666 3,944,818 647,152
= 158,747
= 152,711
Al 2,986,208
S AH2 29 2,933,660 3,567,538 A 633,878
= 158,747
< 152,711
Al 2,622,202
LETMHR 29 1,654,316 1,869,861 A 215,545
= 40,246
< 74,458
Al 1,539,612
SENEREES 141,260 287,060 A 145,800
201 et 17,060 17,060 0
01 At 22l 17,060 17,060 0
OFIInHE=ERS 17,060
Os&X 15,000 » 15JH AL » 12& 2,700
OX X 13,000& = 10JHAF » 123 1,560
O=F2tX 5,000& * 100H AL * 52= 2,600
OZ2tX 11,000& = 5000 A » 123 6,600
OFSPAFSE-= 300,000& = 12& 3,600
206 M= Hl 9,200 20,000 A 10,800
01 =4l 9,200 20,000 A 10,800
ONECUES 9,200
ORFID TAG 500& = 9,2000H 4,600
octg =X 9& 5002 = 9,200H 4,600
405 TtakF S| 115,000 250,000 A 135,000
02 S A=l 115,000 250,000 A 135,000
O M= HI 12,500& * 9,200 115,000
SN2 EZOHR2H 57,970 41,770 16,200
201 Let24d] 52,770 37,070 15,700
01 AtR 22l | 7,000 2,000 5,000
O=Ma 2 M= 20,000& *» 200% 4,000
O=sAE2ZE 2,000& = 1,000% 2,000
oOcNZ EEZS 2,000& 5008 1,000
03 & Ar2 I 45,770 35,070 10,700
OSARZIH2H 13,760
OY ML
35,000 = 2AI2F = 13008t * 123] 10,920
OSdizte W& 70,0003 = 1204 840
Oox=3& F¥Jzs¢ 500,000& = 43| 2,000
O=Ads0tel g4 4,110




SN CARBMSSEE QST
M BTCHY 29
Chelr s M2 29 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O=WExg
35,000& = 2AI2t = 8IHEt * 63 3,360
OEEEZANTY 12,500& = 102 » 63 750
OQ =28 HAEH 20,000,000& = 13l 20,000
O M2 =2t AL 1,200,000& » 13| 1,200
O=NAE A 1,700,000& * 13l 1,700
O&BBCIAHOEY Z)82H  300,000&+ 103 3,000
OEMZJEN 122y 2,000,000& = 13l 2,000
206 M= Hl 1,200 1,200 0
01 24l 1,200 1,200 0
023D Z2IY 2YSE
300,000& = 43| 1,200
301 et A3z 4,000 3,500 500
09 &AL HIZ &S 4,000 3,500 500
O=FstZz2 0 NJASAA =&l
8,000& * 20¥ = 25¢ 4,000
AzgEa2d 90,047 70,774 19,273
101 @14l 38,727 33,589 5,138
4 D12t ZE2XNEES 38,727 33,589 5,138
CPU=F-EIN-TRES-T -POEX- FIE
60,240 * 2H » 262 ~ 113 34,458
OC4liMNIEERES 3,469
O=0H3RES3 34,458,000& * 4.5% 1,551
OHLEE=ZREZ 34,458,000& * 3.06% 1,085
OINRLEEERES
1,055,000& * 6.55% 70
CLEZEZRES 34,458,000& * 1.5% 517
OMTHEERE 3 34,458,000& * 0.8% 276
OZFE F Il 200,000& = 2H « 23| 800
201 L2l 9,780 9,460 320
01 At 22l 9,000 8,700 300
O M2 AAX 2,000& 3,000 6,000
OEM& Ol cIZX  2,000& * 1,000% 2,000
O&= T M2zl F O
100,000& = 10H = 13l 1,000
02 =224l 780 760 20
O8RES 780
Ost=2E M2 360,000& = 13l 360
O3 M2 300,000& = 13l 300
Os=33 M 120,000& * 13/ 120
206 = Hl 13,480 9,150 4,330
01 =8l 13,480 9,150 4,330




2N
X ZH -
L= B

el

FO 01 HN
OF 0K

BYYSEEE QBCHB
SN 2Y
SHE 2Y

S B G(SA) - NRANY - BES il 2
OUHEES 5,800
Olis=zds 1,500 + 3,0007H 4,500
Oateel& 80,000& = 158 1,200
OdlE=zell 10,000& » 102 100
OMIIEEUE 3,000& * 10004 300
OZANE+=E H 150,000& * 28 300
ORFID TAG 28 500& = 1,0007H 500
ONnsSUHELEI I+ X
3,000& = 1002 300
OA2E A 20,000 * 204 400
OXZ A ACIZ 100,000& * 1074 1,000
OZEXNZA PC2HE 580
Odl et 35,0002 * 8H 280
O2I18E 15,000& * 100H 150
ot 15,0002 * 104 150
OABHES QLY E 100,000& * 54 500
O Ht L 8,000& = 3004 2,400
OMZEH| 40,0003 = 204 800
O=MH 30,000 * 204 600
301 et A Z 4,160 4,160 0
09 &AL HI B &S 4,160 0 4,160
O=AMECl NESAA 2S4H|
20,000 * 2% = 104 4,160
405 TtabF S| 23,900 13,050 10,850
01 AL ESH SH 23,900 13,050 10,850
oz 4 ol 23,900
OO0 g0l SA5H6AH AJt
2,000,000& =+ 64 12,000
OO0gol SA3H6AH At
1,500,000& * 1K 1,500
O& XM It 700,000& * 204 1,400
OSE4d s46EH7H At
2,000,000& * 204 4,000
O S A 1,000,000& * 504 5,000
TTCHE HBAZ B2 92,236 86,705 5,531
= 40,246
< 22,358
Al 29,632
101 @124 4] 92,236 86,705 5,531
= 40,246
< 22,358
Al 29,632
04 JIZHHZ2Z2XNSE =+ 92,236 86,705 5,531
OJIZtN 222+ (4Y) 89,436,000& 89,436




SN CARBMSSEE QST
M BTCHY 29
Sel: QBTN 2Y (29 a8)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
= 70,275
[ 22,358
Al 26,832
OSXEUE L HAESIY| 2,800,000 2,800
ANEE X 22 557,015 435,530 121,485
201 et A | 5,400 5,400 0
01 AFR 2t 2l bl 3,600 3,600 0
ORodHl AAE 300,000& « 12& 3,600
02 352494l 1,800 1,800 0
ode4I FA2eldl 50,0008 = 3CH = 128 1,800
206 TH 2 H 8,320 10,990 A2,670
01 X2 bl 8,320 10,990 N2,670
O Al & 22| X+ 2,430
O®EIIAIE 22| RtTH 810
-LEDE T 2| 9= 30,000& = 274 810
OJIHAE 22| Rt TH 810
-2 M 2 9= 30,000& = 274 810
OLAIE 22| RtTH 810
-REE 2 98 30,000& = 274 810
OFANA2IES 50,000& * 5& * 23| 500
OFHESAMAE A2 T 2,000
OUTP 2I0IE 2 108 1,000,000& * 23] 2,000
o3& ¥ HAES
30,000& = 6O A = 12& 2,160
O8I SEH 16,5003 * 202t A 330
ORMINSEED ARE 900
OHlI< () 100,000& * 58t A 500
Oodlg () 80,000 = HEtA 400
307 QI2t0| ™ 375,452 345,303 30, 149
05 0I2t2( &2 375,452 345,303 30, 149
TAZ FAEY 375,452,000& 375,452
401 Al Bl 20 HI 166,643 73,837 92,806
01 A& HI 165,743 73,837 91,906
OJIHANEZS RANE= 4,800
OZti= & =T A& 800,000& * 6IH A 4,800
OHIINEZE RANES 7,800
OZX% & dEAHL 800,000& * 6IH A 4,800
Ox=&&H KA+ 1,000,000& * 3JH 2 3,000
O2YANEE RANES 4,800
OXs SMEX &4 800,000& * 6IH 4 4,800
odLE ) RANES 4,800
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SN CARBMSSEE QST
M N2 23
el QAT AP 29 CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
o=2¢3 #F& 8,000& = 40m x 23| 640
OtJI2 &M ot MAIE 23 260,500 262,000 21,500
< 52,100
Al 208,400
201 L2l 44,020 44,640 A 620
< 8,804
Al 35,216
03 A2 Z Hl 44,020 44,640 A 620
O#AIEE 17,300
OXAH YL E2= ME 2,000& * 6,000 12,000
< 2,400
Al 9,600
OES™ItE 70,0002 = 309K 2,100
= 420
Al 1,680
O« ZA 2,700,000& = 13l 2,700
= 540
Al 2,160
OENEEAJZ AA=Y  100,000& * 5Y 500
< 100
Al 400
onaesI =4 1,700
ONRLEIHESE 2HSY 70,0008 * 103 700
= 140
Al 560
OXgsIitssd /35 500,000& = 13l 500
< 100
Al 400
ONZEsIHsyd 23 500,000& * 13 500
< 100
Al 400
OusZz)dH 2% 24,020
OR2DS 2H2Y
70,000& = 448k = 103 2,800
< 560
Al 2,240
ORRZus S22 500,000& = 23| 1,000
< 200
Al 800
OM=0lZ2d 22
70,0003 * QHEF * 243 15,120
< 3,024
Al 12,096
OsotelEZ2Z 70,000& = 103l 700
< 140
Al 560
OHuUsMEZ=ld 2 1,000,000& * 23 2,000
< 400
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H
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el

= _ — d =
SN FH-SA(EN) - MBAY - BES e HlnE2
Al 1,600
OWsEME 80,000 = 150HEF » 23] 2,400
< 480
Al 1,920
o#s sy 10,000& = 100% 1,000
< 200
Al 800
M= dl 204,000 202,500 1,500
< 40,800
Al 163,200
M=l 204,000 202,500 1,500
oXneol Mz 7¢ 204,000
O&AN 9,500& = 2& = 8,00004 152,000
< 30,400
Al 121,600
OJtgel 18 6,500 = 8,000H 52,000
< 10,400
Al 41,600
ALtE A S 12,480 12,660 A 180
= 2,496
Al 9,984
HALAHI B &3 12,480 12,660 A 180
O EsIt =&l 8,000& = 30 = 122/ 2,880
< 576
Al 2,304
OX2 &SIt &gl X&
20,0003 = 20H = 243 9,600
< 1,920
Al 7,680
MO N&2H 387,000 394,500 AT7,500
307 21201 A 362,000 352,000 10,000
5 B2t E = 362,000 352,000 10,000
QJI&ES N2 29 362,000,000 362,000
405 XHoHF S HI 25,000 39,500 A 14,500
SN 25,000 37,500 A 12,500
O M7 12,500& * 2,000 25,000
NEEA22Y 346,313 384,119 A 37,806
= 40,246
< 22,358
Al 283,709
2= EE 109,980 147,780 A 37,800
2 B2 F | 12,780 12,780 0
01 At 22l 12,780 12,780 0
oZIIAnH=E 25 12,780




SN CARBMSSEE QST
M BDCHY 29
el HESHERY (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
O 15,000& * 1500 AF = 12& 2,700
ORI K] 13,000 = 10JHAF = 128 1,560
OE 2t 11,000& * 35JHAF = 128 4,620
F=2HX 5,000& = 15JHAF * 523 3,900
206 M = Hl 7,200 10,000 AN 2,800
01 XHZ I 7,200 10,000 A 2,800
OENE2ES 7,200
ORFID TAG 500& = 7,200H 3,600
OctesSXI2 95 500& = 7,2000H 3,600
405 XHoHFE SHI 90,000 125,000 A 35,000
02 EAFH| 90,000 125,000 A 35,000
O A 12,500& = 7,200& 90,000
CANZE2sEE)HSH 43,030 45,230 N 2,200
201 2ot 2 Y| 41,430 43,830 A2,400
01 At 22l ] 3,000 7,000 A4,000
oOsMHMLE2Z2H 2,000& * 1,000% 2,000
OENZ EE= 2,000& = 500 1,000
03 SHAIS H I 38,430 36,830 1,600
OSAStEz1H2AH 32,170
OZ A=
35,000 = 2A12F = 14JH Bt * 243] 23,520
OSEUAMNHZ(U2DFEY)
500,000& = 83| 4,000
O(sstlzz ))& =2x829
500,000& = 63| 3,000
OZSdHIHte M= 70,000& * 1504 1,050
oEz)d &4 M=l 300,000& * 23] 600
O=EAMEsOtel &4 4,860
S ERG
35,000& = 2A2F = 40HBF « 123] 3,360
OEE8:AM7Y 15,000& = 10& = 10 1,500
O M2 =2t SHAt 700
O2 A= 500,000 = 13| 500
OoZz ) 24 &l 200,000& = 13| 200
OSSN & At 700
OLAE=E 500,000& = 13| 500
OoEzNd &9 M&Hl 200,000& * 13 200
301 YU B A 1,600 1,400 200
09 HAIAHIBEAZ 1,600 1,400 200
OSSN Z2 0 NIFESALXN S|
8,000& * 10¥ * 203 1,600
nEgzaey 82,597 89,386 £6,789
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Mo Ok x
H e

HUSEER QAT A
NE 2%
NEey

CEH SR (BH) - NBAY - B2 o A o SSa H RS2
o124 | 58,562 50,396 8,166
JIZEHI 22 NS E % 58,562 50,396 8,166
oNzde € FLXsd oH2H

0,240 * 38 » 262 = 11& 51,686
O4t A BEE 2 5,676
O=0dza 232 56,384,640& * 4.5% 2,538
OALEBEZEL= 56,384,640& * 3.06% 1,726
Zley=Es 2g
1,725,370& * 6.55% 114
onlggsEs 23 56,384,640& * 1.5% 846
Ot Tl EAEE 2 56,384,640& * 0.8% 452
(©OF=FSE=) ] 200,000& = 3Y = 23] 1,200
2 8t2 A H| 2,095 5,090 N 2,995
AP 22| B 1,830 4,830 A 3,000
OZeHEUY 220,000& = 504 1,100
O=AMIEH 260,000& * 24 520
O=EAEX 21,000& * 102r A 210
S329Hl 265 260 5
(@)=SlR=R =g 265
Ost=2E & 115,000& 115
O3 A& 150, 000& 150
2 I 7,300 9,080 A 1,780
2l 7,300 9,080 N 1,780
OUEARS 1,090
osEaHe 1,500& = 5004 750
OJtEel X 80,000& = 38 240
Odleacely 10,000& * 102 100
og+3 X 3,000& * 502 150
O=EANES-ZE HEY 150,000& * 102 1,500
OMIIE BSHE 3,000& = 1004 300
O At ALCIS 100,000& = 2004 2,000
OXZAPC 1,000
(@) E=s 35,000 * 204 700
(OF]E=3= 15,000& * 109H 150
(@] == 15,000& = 109H 150
OZgH EH(ANZAR) 220,000 = 34 660
O M2t 40,000& = 10CH 400
O=AU(XRE2AE) 20,000& * 104 200
utg A= 8,320 8,320 0
SHALAIH|E A2 8,320 0 8,320




SN CHRBMSEZE Q&C AR
IM: BTSN 2Y
Sl NRCHBRY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O=ENMAE2 XESALAF A H|
20,000 * 4% = 104 8,320
405 XHA&HF S HI 6,320 16,500 A 10,180
01 XA 2 ZF S H| 6,320 16,500 A~ 10,180
OZ&Al EISHABEHA D} 1,000,000 = 64 6,000
O™ 8HXITH 80,000& = 4JH 320
S AN 2AI2EAE 92,236 86,705 5,531
= 40,246
& 22,358
Al 29,632
101 e1214| 92,236 86,705 5,531
= 40,246
o= 22,358
Al 29,632
04 J|12ZtHIZ22NEES 92,236 86,705 5,531
OJZ2ZN22ANEES(49) 89,435,592 89,436
= 40,246
= 22,358
Al 26,832
O=SXEE L HESFIHY| 2,800,000 2,800
SR =P\l 18,470 15,018 3,452
201 et 7,560 7,560 0
01 AR 22l ] 3,000 3,000 0]
ORIAHHIAIAE 250,0008 = 12€ 3,000
02 2224 H| 4,560 4,560 0
oY - 247 A2l
25,000 * 60 = 12&€ 1,800
OZ2J/d&I| SKX22d|
23,000 * 100H ~ 12€ 2,760
206 M = Hl 7,710 7,458 252
01 X2 H| 7,710 7,458 252
OFAN 22 EE(EZS9E)
50,000& * 8 = 13 400
O3t& Al Y HAEE(4T) 6,600,000& 6,600
od - 20 =252 16,5008 » 202+ A 330
ORM MNEZHI ARS 180
Odld (th) 100,000 * 1A 100
ol () 80,0008 = 18tA 80
OAlI=E J|8A 20,000& * 104 200
405 XH&HF S HI 3,200 0 3,200
01 XAt E B F S| 3,200 0 3,200
04012 SHA X 600,000 = 404 2,400
oct2XE2 SAHA X 400,000€ = 204 800




SN CARBMSSEE QST
M ZDCHY 29
SE R EEPEEE EEREED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
SEEEAM22Y 310,229 346,898 A\ 36,669
= 31,302
S 22,358
Al 256,569
SN EES 110,660 148,460 A 37,800
201 LBt2 13,460 13,460 0
01 At 22l bl 13,460 13,460 0
oFJIAnd=E =R 13,460
(O3 ON 15,000& = 15JHAF = 12 2,700
OXgXR 13,000& = 10J0HAF = 122 1,560
O=F2X 5,000 * 10JHAb * 52= 2,600
O&2tA 11,000& = 5000 Ab = 128 6,600
206 M =8l 7,200 10,000 A2,800
01 M= dl 7,200 10,000 A 2,800
O=NEel 238 7,200
ORFID TAG 500& = 7,20004 3,600
OctEEX 2 93 500& * 7,200H 3,600
405 At&tE =HI 90,000 125,000 A35,000
02 =M 90,000 125,000 35,000
Ok 12,500& = 7,200 90,000
ENZ2EEZIH2Y 35,890 34,690 1,200
201 2Bt | 34,290 33,290 1,000
01 AtR 22l | 2,800 2,800 0
OsSM=2E 2,000& = 1,000 2,000
oAt EES 2,000¥ = 400% 800
03 A2 S HI 31,490 30,490 1,000
O=sAMEstZ20dY 29 27,500
O2M=¢
35,000 » 2A12+  15JHEF * 243 25,200
Os=3d==x=d FII3H 500,0008 * 23 1,000
OEdot= 70,000& = 1094 700
OZz Y 2HES 300,000& =* 23] 600
O=As0tel =4 1,590
OstEsE
35,000 » 2A12F « 204t » 63l 840
OEEE TAHATE 15,000& » 102 » 55 750
oo=s S 1,000
OZA=¢ 500,000& = 23] 1,000
OZ N2 F2tEH A 700,000& = 13 700
O=Kog A 700,000& = 13 700
301 Yete A 1,600 1,400 200




SN CHRBMSEZE Q&C AR
M ZRCNB 29
ool BECABRY CER-ED
SA - ZE-B(EA) - NRAY - B S il &t o il RS2
09 HALAHIEA S 1,600 1,400 200
OFstZ2 08 XNJASAX 2l
8,000& = 10¥ = 203l 1,600
A=geadd2H 60,522 66, 122 25,600
101 @14 Hl 38,727 33,602 5,125
04 JIZHHZ2XNHEE S 38,727 33,602 5,125
ONEH2 ¥ =Y IR 29 o
0,2403 = 2% + 26 ~ 113 34,458
O4liMaIBE Z 3,469
O30z RFES 34,458,0008 * 4.5% 1,551
OAHZ2eEz 23 34,458,000 * 3.06% 1,055
OFIILEEz BEZ
1,055,000& * 6.55% 70
Ons2dz 283 34,458,000& * 1.5% 517
Otz 2€32 34,458,000& * 0.8% 276
OYE SOt 200,000 = 2¥ « 23] 800
201 LBt HH| 1,835 1,830 5
01 At 22l 1,570 1,570 0
oZgH EU 220,000& =« 504 1,100
O=AIl EYH 260,000& « 1CH 260
O=AEX 21,0003 » 10 A 210
02 =224l 265 260 5
O8ARES 265
Ost=2E M2 115,000& 115
O3 M2 150,000& 150
206 M= Hl 10,840 9,740 1,100
01 = Hl 10,840 9,740 1,100
olE 3&AS 5,940
Oms3te 1,500& = 3,000H 4,500
O3tE =ZgH e 80,000& = 1504 1,200
OJtE =gy 224 10,0002 * 2404 240
ONnsSUHEEEI I+ EX
3,000& » 1002 300
OAM2E A 20,000& * 2004 400
OWEZN E+& HOZE 150,000& » 108 1,500
OMIIE SHE 3,000& = 1004 300
OXZ & At AIAE 100,000& * 204 2,000
O 28t]| 40,000& = 1094 400
301 LEtE A= 8,320 8,320 0
09 HALAHIE& S 8,320 0 8,320
OEMERl XNFSAX 2HIXE
20,0003 * 498 = 104 8,320




SN CHRBMSEZE Q&C AR
IM: BTSN 2Y
©el: EHEANBRY CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
405 XHoHF S HI 800 12,630 A 11,830
01 AL ESFH S 800 12,630 A 11,830
OFAHA 2AXt 100,000& * 8K 800
ST AZBHZAIZHE(21) 92,236 86,705 5,531
= 31,302
< 22,358
Al 38,576
101 124 dl 92,236 86,705 5,531
2 31,302
< 22,358
Al 38,576
04 JI2ZtHZ22HEE = 92,236 86,705 5,531
OIZH22XE 4 (4%) 89,436,0002! 89,436
= 31,302
= 22,358
Al 35,776
OEXNZELE & HHEZFIHYI 2,800,000& 2,800
ANEERX 22 10,921 10,921 0
201 L4l 4,740 4,740 0
01 At 22l 3,000 3,000 0
O=RAHl AIAHE 250,000 * 123 3,000
02 2324l 1,740 1,740 0
oY - 27| ®X&2] 30,000& » 404 » 128 1,440
O#MASI| #=2ldl 300,000& * 13 300
206 = Hl 6,181 6,181 0
01 M2 4l 6,181 6,181 0
OXMN ARE(OIRALR 28) 20,0002 = 2004 400
O3 & FLES 5,091
2 el 7,000& * 84 + 12& 672
Ost&EX 3,470% * 88 » 8 A » 128 2,665
oMy IS8 = (50L) 930& = 15001 = 123 1,674
OMl==Hl 5 800& = 1004 80
od-2xJ =5Z 16,500 * 208t A 330
o4& JNsEHI 2B3 360
Ol (th) 100,000& * 2&8tA 200
Ol (4) 80,0003 * 2¥+A 160
MESEM22Y 127,325 158,072 A 30,747
SNEBRNZES 58,660 99, 160 A 40,500
201 2Bt Ayl 4,660 4,660 0
01 At 22/l 4,660 4,660 0
OFJIZtHE F=HI 4,660




> 01 N

NBBYSSEY QBT
BTN 2Y
s=cMB2Y

CEH B (BH) - MBEAY - B2 ﬁlf& HD=2
O=2 X 15,000 = 3 AL » 128 540
ORI K] 13,000 = 5J0HAF = 12€ 780
ootsd & 5,0008 * 34 A x 128 180
OZF=2tX] 5,0008 * 2JHAF * H2= 520
OE 2t 11,000 * 200HAF = 128 2,640
206 M = Hl 4,000 7,000 A 3,000
01 X2 bl 4,000 7,000 A 3,000
OEMN HEES 4,000
ORFID TAG 500& * 4,000H 2,000
Octd S X2 9& 500& = 4,000H 2,000
405 XH&HF S HI 50,000 87,500 A 37,500
02 S A7 50,000 87,500 A 37,500
O M-I 12,500& * 4,000 50,000
M2 EE)HSA 21,860 22,600 AT40
201 Bt A H| 20,900 21,760 A 860
01 At 22l bl 1,000 3,000 A 2,000
(OEISISR2PN 2,000& x 5008 1,000
03 SHAIS H I 19,900 18,760 1,140
oOsSME2dT2IY 29 16,100
OYMEY
35,0002 * 2A12F = 8IHBE % 243] 13,440
OZdate 70,000& = 8JH 560
Oomz)H &9 A2E 300,000& * 23] 600
O&Il ots=2C =3 = 500,000& * 33 1,500
O A2 F2t AL 500
OLAEE 300,000& = 13| 300
OgAMNESY AZ2EH| 200,000 = 13| 200
OsAMo & At 1,300
OgAMNESY AZ2EHI 200,000& * 13 200
Ox3ds9H 500,000& = 13| 500
OZ A=Y 300,000 = 23| 600
OETMNMZAEIN 182 2,000,000& = 13| 2,000
301 YptE A 960 840 120
09 HAIAH EA = 960 840 120
OSZz 18 XAJASALA S &I
8,000& = 104 * 123 960
sgzs 29 38,718 27,865 10,853
101 @121l 19,368 16,800 2,568
04 JI2ZtH 22 XNEE % 19,368 16,800 2,568
oXzgde & =& Nzd 29 o4
60,240 » 1Y = 262 * {18 17,229




SN CARBMSSEE QST
M ZDCHY 29
Sl NEBCAHBRY CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O4UiMaIBEE S 1,739
O30z RES 17,229,0002 * 4.5% 776
CHZLZ2EE BE= 17,229,000& * 3.06% 528
OWINLAEEE FE= 578,0008 * 6.55% 38
CLnE2Ezs BE=3 17,229,000& * 1.5% 259
OtTHEE S RE= 17,229,0008 * 0.8% 138
OZF & F Il 200,000& = 23| ~ 1H 400
201 LBt2E | 1,510 2,505 A 995
01 At 22l 1,245 2,245 A1,000
OZeEHEUY 220,000& * 44 880
O=AMIIEH 260,000& = 104 260
O=AMEX 21,0003 * 58fA 105
02 2324l 265 260 5
Og2aRg= 265
Ot M2 115,000& 115
O23EMd2 150,000& 150
206 M= Hl 4,480 5,980 A 1,500
01 =8l 4,480 5,980 A 1,500
oOU=EzdS 3,500
OU&3te 1,500& * 2,000 3,000
OItE=ZgH el 80,000& * 5K 400
Oate=Zely 22U 10,000& * 104 100
OMItE SHE 3,000& * 60K 180
oXsUEegll E+5&X 3,000&8 * 1002 300
OXzZ 4 A= 100,000& * 574 500
301 gt d= 4,160 2,080 2,080
09 SALAHIEA S 4,160 0 4,160
OEAMEel NISAL 2SS4
20,0003 = 28 = 104 4,160
405 XtabE SHI 9,200 500 8,700
01 AL ESFH S 9,200 500 8,700
OXt=z 4 MOt 9,200
ObLh 27 thAl 1,000,000& = 24 2,000
ObE 24 =4 1,200,000& * 64 7,200
NESFI 22 8,087 8,447 A 360
201 £B-2d| 5,340 5,520 A 180
01 At 22l 3,000 3,000 0
O=RolAHl AIAHE 250,000& = 12& 3,000
02 2324l 2,340 2,520 A 180
OotsXz 4 BIIFHI KA 2L
30,000 = 4CH = 12& 1,440




2N

X{ XH -
S =

M. o (BH) - HSAY - BAS il HDS2
oY - 24 FA2el 25,0008 = 30H = 128 900
206 M = Hl 2,747 2,927 A 180
01 M= bl 2,747 2,927 A 180
Ox&a ¥ HAES 2,402
OYeH 7,000 * BIHA + 128 504
Ost&E X 3,500 * 528 * 6IHA x 12& 1,260
oMrgoIsE 1,770& = 3000 ~ 12& 638
oOd -2 SEY 16,5003 * 102t A 165
OR& NsSEEI 2B2F 180
Odl< () 100,000 * 1&tA 100
OHlE (a) 80,000& * 182 A 80
HWENd2 29 296,866 634,124 A 337,258
= 31,302
< 22,358
Al 243,206
CEAEXNEES 99,860 418,460 A 318,600
201 Bt H | 13,460 13,460 0
01 At 22l Yl 13,460 13,460 0
OFJI2ZAMHE R=EF 13,460
OsLX 15,000& * 155 » 12& 2,700
ORI X 13,000& * 105 x 12& 1,560
O 22X 11,000& * 500 AF x 12& 6,600
OF2tX 5,000& * 10JHAF = 523 2,600
206 M =8l 6,400 30,000 N 23,600
01 & bl 6,400 30,000 N 23,600
O=ANE2ES 6,400
ORFID TAG 500& 6,400H4 3,200
Octe S 2 95 500& 6,4004 3,200
405 XHo&HF S HI 80,000 375,000 A 295,000
02 &M+t 80,000 375,000 A 295,000
O&AM 12,500& = 6,400 80,000
CAS2IEZZ N2 30,590 29,930 660
201 YEt2 | 28,990 28,530 460
01 AF22t2l bl 4,000 4,000 0
OSSN E 2,000& = 1,000% 2,000
OEANZ EE2= 2,000& = 1,000%8 2,000
03 S AIS H H 24,990 24,530 460
OsSMASIEZ NS 29 21,320
OZ M=
35,000& * 2A12F = 12J8F * 243] 20,160
@)=E=4 70,000& * 8H 560




SN CARBMSSEE QST
M DDA 29
ool FUSHE 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OZzgz )y 2EALE 300,000& * 23] 600
OFEFUNYS 208 29 1,770
OZ A=
35,000& * 2A12F = 1JHEE % 203 1,400
@)=E=4 70,000 = 1JH 70
OEzZH A3 300,000& = 13| 300
O A& F2tH A 600,000& * 13 600
O=sA2AY @At 600,000& = 13| 600
ogol2s 2A 350,000& * 23] 700
301 Yere A 1,600 1,400 200
09 HALAHIBEA = 1,600 1,400 200
OSANR3 T2 TIHEEAML SAH|
8,000& * 10¥ * 203 1,600
Ahzgesaesd 59,682 88,576 N 28,894
101 @121l 38,727 50,396 A 11,669
04 JI2ZtH2E2XNEE S 38,727 50,396 AN 11,669
oAzl € FLXNsd 2o
0,240 * 298 » 262 * 11& 34,458
O4U Al EE 2 3,469
O=0ldza 232 34,458,000& * 4.5% 1,551
OoAnzdBEz 22 34,458,000& * 3.06% 1,055
OIAEE=E 22
1,055,000& * 6.55% 70
ongsgsEs FE2 34,458,000& + 1.5% 517
OXtTHEEZ 22 34,458,000& * 0.8% 276
O ¥ &E | 200,000& * 2% = 23| 800
201 LEr2 Y| 1,835 3,710 A 1,875
01 AF22t2l bl 1,570 3,450 A 1,880
oZelHd EY 220,000& = 504 1,100
O=2AMI EYH 260,000& * 1H 260
OEAEX 21,000& * 102+ A 210
02 35249t 265 260 5
O 83yl 265
Ost=2E & 115,000& = 13 115
O A 150,000& * 13 150
206 M =8l 10,800 14,650 A 3,850
01 X2 bl 10,800 14,650 N 3,850
O=ANUEIIIAS 5,850
O3S 1,500& = 3,0004 4,500
Ozlasds Ty 2= 80,0008 = 1504 1,200
Odleacely 10,000& * 1504 150
OXZ &A= 100,000& * 2004 2,000




SN CARBMSSEE QST
M DDA 29
ool FUSHE 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OFIN2ZUHEA JEEQ 2& 55,0008 * 104 550
oOdEZMEE 10,0002 * 504 500
OEANES+E HOlZ 150,000& * 28 300
OXNSUEEE) 95 X
3,000& x 1002 300
OAIt SHE 3,000& = 3004 900
O M2t 40,000& * 1074 400
301 dEtE A= 8,320 8,320 0
09 HALAHIEA = 8,320 0 8,320
O ANE2 KNJASAK 2S4A|
0,000& * 4% * 104 8,320
ANEEF X 22 14,498 10,453 4,045
201 et A | 8,040 4,080 3,960
01 AFR2 22l Yl 2,400 2,400 0
OR01AH AIAE 200,000& * 12& 2,400
02 332494l 5,640 1,680 3,960
ode4+I A2 30,000& = 3CH ~ 128 1,080
O2JI&EAI| RA2el 70,0008 = 40H = 128 3,360
OM&I sXze 50,000& = 10§ ~ 128 600
o283 HA 300,000& * 23] 600
206 M= Hl 6,458 6,373 85
01 X2 bl 6,458 6,373 85
OXMEE(clEQ 38) 50,0008 *» 55 * 13 250
oOFMNB2IESES(HEE A7S)
50,000& * 88 * 13 400
oz&a ¥ HAES 4,918
OY&H 7,000& * 10004 = 1200 € 840
OSt&E X 3,500& * 88 * 10014 * 128 3,360
orgoIsE 1,770& = 3008 ~ 128 638
ON =t 800& * 1004 80
odexd s5¥Y 16,500& * 2082+ A 330
OR& NsEEI A2B2F 360
OHlI< () 100,000& * 28t A 200
odlg (a) 80,000& =* 28+ A 160
OAIE2& |2t A 20,000& * 109H 200
DN OHBAIZ OF 92,236 86,705 5,531
= 31,302
= 22,358
Al 38,576
101 @124 92,236 86,705 5,531
= 31,302
< 22,358




SHRBNS SRS QBTN
TTCHB 29
AUSHE 29 SREED
= - — SHE|
SN HH-S(BN) - MBAY - B e 2
38,576
04 D12t Z2XEES 92,236 86,705 5,531
OJIZHIZZ2XNE = 89,436,000 89,436
= 31,302
= 22,358
Al 35,776
O=XNZEE L HEFIHYI 2,800,000& 2,800
SMHEM2RSI 198,611 174,464 24,147
= 15,651
< 11,179
Al 171,781
SN2 =ZES 62,080 62,080 0
201 £B-2dH| 8,080 8,080 0
01 At 22l 8,080 8,080 0
OFIINHEETS 8,080
OF3=ON| 15,0002 * 1094 AF » 122 1,800
OXI&X 13,000& » 15JH AL » 12& 2,340
OZ2tX 11,0002 » 200 Ab » 12 2,640
O=F2tX 5,000 * 5IHAb * 523 1,300
206 M= Hl 4,000 4,000 0
01 =8l 4,000 4,000 0
OZNELES 4,000
ORFID Tag 5002 * 4,0004 2,000
Octd X2 95 500& = 4,00004 2,000
405 TtabF S| 50,000 50,000 0
02 = A7l 50,000 50,000 0
O M-I 12,500& * 4,000 50,000
SN2 EZOHR2H 26,150 20,110 6,040
201 Let24d] 24,550 18,110 6,440
01 At 2teltl 4,000 2,000 2,000
O=EALZE 2,000& = 1,000% 2,000
oOcNZ EE22 2,000& = 1,000% 2,000
03 &AL Z I 20,550 16,110 4,440
OSN2FHZ2]3 16, 180
OBM+E
35,000 2A2F = QI Bt x 243 15,120
(@)= 70,000& = 84 560
Ox=& I8¢ 500,000& = 13l 500
OFBHANS TR0y 29 2,070
OYMEg
35,0003 = 2AI2t = 1JHBF = 203l 1,400
O 70,0002 = 14 70




SN CARBMSSEE QST
M BDCHY 29
el SAChBRY CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
OZz gy A28 ¢
300,000 = 23| 600
O 2& 2H3 350,000& * 23] 700
O M& =2t AL 800,000& * 13 800
OSsAHoY &AL 800,000& * 13 800
301 YU B A 1,600 1,400 200
09 HAIAH EA=S 1,600 1,400 200
O=2gZ=z 18 XAJASALA 24|
8,000& * 10¥ * 203 1,600
==Y 56,952 39,882 17,070
101 @124l 38,727 33,597 5,130
04 JI2ZtH 22 XNHEE =+ 38,727 33,597 5,130
ozl ¥ =L Nzd 29
0,240 * 29 » 262 = 11& 34,458
O4AISIBEE 2 3,469
O=0ldza 232 34,458,000& * 4.5% 1,551
OnzdEBE2 232 34,458,000& * 3.06% 1,055
O&IABEE FE2
1,055,000& * 6.55% 70
Oonggss 232 34,458,000& * 1.5% 517
OXtTHEEZ 22 34,458,000& * 0.8% 276
O ZF&E S Ith| 200,000& * 29 = 23| 800
201 L2 | 1,835 1,610 225
01 At 22l Yl 1,570 1,350 220
OZeHEUY 220,000& * 54 1,100
O=AIIEYH 260,000& * 1JH 260
oO=AEX 21,000& * 102+ A 210
02 3524l 265 260 5
©)=REli=Rg == 265
Ost=2E & 115,000& 115
OB A 150, 000& 150
206 M = Hl 4,455 2,675 1,780
01 X2 Hl 4,455 2,675 1,780
OUHEIIS 1,950
ousate 1,500& = 1,0004 1,500
OJteEZglE 2|8 80,000& * 54 400
Oatezxel e 2214 10,000& = 54 50
OXZ Al AFQIAIAES 100,000 = 3H 300
OENE4+E HolZ 150,000& * 28 300
OXNsSUHELEI = EX 3,000& * 508 150
OANIt SHE 3,000& = 2004 600
ONZH=E 10,000 = 504 500




SH CARBMSSER QBT AP
IM: BTSN 2Y
SUEHBRY SREED
SN HH-S(BN) - MBAY - B il HlnE2
o=&8J| et&d 10,000 * 3H 30
OXz4a PCRY 275
OdllEA 25,0002 * 54 125
OIIEE 15,0003 * 50H 75
oA 15,0002 * 54 75
OAtZ &I gA 20,0003 * 50H 100
OE=ZRFIDEHO 500& = 5004 250
301 L2 A= 4,160 0 4,160
09 HALAHIEA S 4,160 0 4,160
OEMERl XMFSAX 2S4H|
0,000& = 28 = 104 4,160
405 XHoHF S HI 7,775 2,000 5,775
01 XL 2 ZFH S| 7,775 2,000 5,775
oxet 425
O (HAS) 300,000& = 14 300
OgZolal "Hols 25,000& * 204 50
O&Tt 15,000& * 50H 75
OXtz 4 NIt 5,850
OCtAl 6H3%H A Dt 1,000,000& = 3H 3,000
OJE Mt 2,200,000& = 14 2,200
Od=2Z0lt 650,000& * 1K 650
ol 1,000,000 * 1CH 1,000
OAMUH(IAS £2E) 500,000& =« 1CH 500
ANESRR 22 7,311 9,039 AN1,728
201 L2l 4,080 6,111 A2,031
01 At 22l 4,080 2,400 1,680
ORo&Hl AlAH 200,000& = 123 2,400
OF=J Xz 30,0003 = 304 = 12& 1,080
OZ3J18&J| dxx 25,0003 = 204 » 12& 600
206 24 3,231 2,928 303
01 M2 4l 3,231 2,928 303
OFMZ2EZ(0IRA 2 98)
50,000 * 4& « 43| 800
Oz & HAES 1,726
oM g JlS S (100L) 1,770& = 3000 = 12& 638
Ost&EX 3,500 * 68 » 400 » 128 1,008
OHM ==t 5 800& = 1004 80
odz=)l =54 16,500& » 10 A 165
o4& UNsSEHI A223 540
Ol (th) 100,000& * 3¢ A 300
Oodlg () 80,000& * 3¥A 240




SN CHRBMSEZE Q&C AR
IM: BTSN 2Y
ol SMEAHBRY (B9 ®R)
= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
SSEMN2AZHF(Z21) 46,118 43,353 2,765
2 15,651
S 11,179
Al 19,288
101 212 8] 46,118 43,353 2,765
= 15,651
= 11,179
Al 19,288
04 JIZtNZ22 XS+ 46,118 43,353 2,765
OJIZtHZ2zRHsE+(2Y) 44,718,000& 44,718
= 15,651
S 11,179
Al 17,888
OSXEAE & HEZIHYI 1,400,000& 1,400
HY2IIH (A BYESER SN 2) 364,006 377,280 A13,274
el 2| 40,936 41,882 N 946
el 40,936 41,882 A 946
101 1248l 40,936 41,882 A 946
03 RIHSZZNHE > 40,936 39,722 1,214
O3 Ex(MHEXY) 40,936
oJlza 2,081,010& » 1 » 12& 24,973
Ooz2s=+¢ 104,050 » 1& = 128 1,249
ONs=¢ 100,000 * 18 « 123 1,200
OIJHA X & Hl 160,000 * 18 * 123 1,920
O=gtl 150,000& * 18 * 123 1,800
Ous2xHl 150,000 = 18 « 123 1,800
O&cd=¥¢ 70,000% * 198 « 128 840
OGEF It 1,390,400& » 18 » 23 2,781
OESINFe s
17,0503 = 10AI2+ = 18 = 128 2,046
Odxt=¢ 86,320% * 18 * 202 1,727
oduad= 600,000& * 1& 600
=l 323,070 335,398 A 12,328
Jl=23dHl 323,070 335,398 A12,328
201 2erE= 286,746 306,358 19,612
01 At2 2t 2l bl 37,779 23,092 14,687
QJl=ge+8HH(DI=3Hl)
500,000& =+ 27 13,500
oz2gHI(II=3Hl)
8,000% = 368 » 8Y * 128 » 80% 22,119
CFEIE 2*= 120,000% » 99 » 23 2,160
02 3324t 248,967 283,266 A 34,299




CHRBMSSES Q8T A
HHLAAU (CHBHYSS2D QST AB)
Jl2&dl )
SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
oOfERI 1,415
Og et 300& 1,500 450
Os7l 1,930& *» 5008 965
(OFSPIR=E=, 197,597
OJI22= 6,800& » 604 + 183kw » 122 89,597
OoAEER=
100& = 62 * 15,000kw » 128 108,000
O&ol=E 23 1,600& = 1,000m » 12& 19,200
OZAIDIA 23 (2U)
950& * 1,100m = 123 12,540
OXsIEE 800,000& =« 1CH 800
O Xt = XHAl 100,000& » 104 100
oOxtg FIIBAME 100,000& * 1CH 100
oxg sFU 4,000,000& =« 1CH 4,000
OXEdH & IHEFAZFHI
2,500,000& =« 1CH 2,500
ostdMERE=S 200
ORsxt=E 100,000 * 23| 200
OFNE A =Xl 22l
3,700,000& * 9CH * 8% 2,664
ORdYSE=(6H) 20,0003 = 8CH » 12& 1,920
O&F=J|l |A2eltl 35,000& = 104 » 12& 420
OZ3J18&J| dxxz 57,4003 = 804 =123 5,511
202 04l 31,104 24,840 6,264
01 = LH YI 31,104 24,840 6,264
o=uoid (J1E=34l)
20,0008 » 27H » 8 » 128 * 60% 31,104
203 R =X 4| 5,220 4,200 1,020
04 BENSSIHRF=LHI 5,220 4,200 1,020
OPJE=E: 5,220
OJ12 (308 0l3dt) 400,000& = 12& 4,800
O=H(31Y =) 5,000& * 78 « 123 420




>
A & 0l & A & F Al
20188 = Z0l& LB H SHZBYHSISE2R AEEMZ ~ SMels=2] Bysisa
SN SARBMSSES BaSSD
M HMsts D
S ETMDS 29 EERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
CHRBMHSSER Blsis 1,159,589 1,090,936 68,653
gMsts 28 966,046 913,877 52,169
g Edus 29 696,245 638,795 57,450
HEE AL &3 =4 194,655 161,203 33,452
206 M= Hl 4,654 4,654 0
01 MHZ 4l 4,654 4,654 0
O E &
3,700% * 38 » 12014 ~ 123 1,599
oMY IISE(FA228) 1,833
oMgII=& 1,770& = 70 = 128 1,487
OSAEMYI ERE5(Rald)
3,600& = 8 » 12& 346
OAE22E 223 1,222
OXETHM 25,000& = 134 325
OHEII XM 69,000 * 1324 897
307 21201 A 127,843 124,800 3,043
05 RIZt2IEt = 127,843 124,800 3,043
OHAY 89H 2,663,390 » 4F » 128 127,843
401 Al HI K 201 I 62,158 30,549 31,609
01 A& HI 62,158 30,549 31,609
OHEMRANESE 4,754 « 6,554m 31,158
OHdA HAI| WH SA 20,000
(O200kva 12,000,000& * 1CH 12,000
O 150kva 8,000,000& = 1CH 8,000
o=a =& & WM 3AH(L=90m)
11,000, 000& 11,000
Bdus2d 341,965 331,193 10,772
101 @124l 10,345 15,311 A 4,966
04 JI2ZtHZ22HEE = 10,345 15,311 A 4,966
cdMstsZz)d2E XA 10,345
ool 60,240 = 1H * 262 * 63 9,398
O=Rd=!RE= 9,398,000& * 4.5% 423
OHLEEESRES 9,398,000& * 3.06% 288
OINLAEEHESFES  288,0008 * 6.55% 19
OL=2EE=RE3 9,398,000& * 1.5% 141
Ot EEESFE S 9,398,000& * 0.8% 76
201 2et24d] 312,400 288,580 23,820
01 At 2teltl 302,910 282,770 20,140
CLESMRE 2= M 14,600




SN SARBMSSES BaSSD
M HMsts D
ool ARABWMIS 2 CERED
5 - 4
SA BB (SH) - NRAY - B Ol At o %E& HRE2
Octli2 g8 A8
350 *« 2,0000H = 23| 1,400
Octli2 g2 UsE
4002 = 2,00000 = 23l 1,600
ONSM QF ZAH - 2lZa Y=
4002 « 11,00008 = 23| 8,800
OUSY 27 oo
70,000 * 200 = 23| 2,800
OTMNE 2AIE
35,000& * 8212 x 323 * 3Al2H 275,520
O'oclotsS 2 'HOISEY 2AIx=E
350,0008 = Ht= 1,750
OBMIE YANE HEAY MALT
100,000 * 3Y * 22 * 23| 1,200
onsM gz 4009 * 3,000 x 23| 2,400
OstsHl IIEZN =22
100,000,000 = 3% * 23| 6,000
on=ssg ATEAN 1,440
OPCE HaAlZZ2 O (NEsSE L OHYYIH)
2,000 * 452 1,440
02 2% | 3,990 1,650 2,340
Onsd L MAXH KX 2 1,650,000 1,650
ogYs & |A22dl 39,000,000& * 6% 2,340
03 A2 G H| 5,500 4,160 1,340
OuNsEM L HMSEES0OE HESEFHM
2,750,000& = 23| 5,500
206 M = dl 8,900 19,200 A 10,300
01 =4l 8,900 19,200 A 10,300
oLcla & 294 I XM 8,900
ORLeld useES 700,000& * 53| 3,500
OL9A WEMES 500,000 * 63| 3,000
[OES=- 400 * 3,000 * 23] 2,400
301 et A= 2,240 1,540 700
09 HAIAHI BEAZ 2,240 1,540 700
osts2E3 FILAF 244l
8,000& * 50H x 23| 800
O3Io&EA A 2AH 8,000 * 90Y¥ * 23| 1,440
405 XHo&HF S HI 8,080 6,562 1,518
01 XA 2 FF S| 8,080 6,562 1,518
OgtE A AlAEI R 6,500,000€ = 1CH 6,500
OA=E 395,000& = 4x 1,580
BIEI 2@ EMNESH 159,625 146,399 13,226
101 e1214| 10,586 17,008 ANB,422
04 JI2tHI22XNEES 10,586 17,008 NG, 422




2N
X ZH -
L= B

el

ne o0& HN
Moz =

05 10 iy

HYSSEY BMSSH
& 78
40S 29

SA BB O () - MM - HES il
ogeld dAaod 60,2403 * 2% x 23| 241
o=sJtH 2% 10,345
ool 60,2403 * 198 x 262 » 63 9,398
OIS RES 9,398,000& * 4.5% 423
OCHZZEZRE 3 9,398,000& * 3.06% 288
OFINLEBEZREZE 288,000& * 6.55% 19
CLEZEEZRES 9,398,000& * 1.5% 141
OMAdMANEE=RE S 9,398,000& * 0.8% 76
2 EL2 H Y| 110,931 111,435
AtS 2tel ] 73,466 73,410
OBMuE ZA+=E
35,000& * 191t= * 323 = 3AI2 63,840
COunsd HF 400 * 57098 = 23| 456
OdJ|etd e Hd =5 210,0008 * 128 2,520
oAigordzte] Hd === 200,000& * 128 2,400
OEAMRZH ALY =2
250,000& = 123 3,000
o=cHE 24 12,500& * 100& 1,250
23224l 37,465 38,025
(OFSIcIR A= 30,000& = 12& 360
(OFSPIR=E=; 1,900,000& * 12& 22,800
Oust=ER= 200,000& = 12& 2,400
OE=3=k-Ik] 210
OA ot zte| At 210,000& = 13| 210
QNACHEBAT=Z 30,000& = 13l 30
OA &&= Xl 4,382
Oda2=JIKR A2l
46,7002 * 3CH * 123 1,682
OHEFAMRIII X 2el 300
&= A 5,000,000& = 1CH = 6% 300
Ogs&d |A2a2ldl 40,000,000& * 6% 2,400
O &AL A H| 763 * 2,000m x 63| 912
O&¥stx: EA 14,0008 * 26.5& * 13| 371
OMEH HESHZ 6,000
O3 ES A2 (4M)
500,000& = 13l& = 128 6,000
M = 8l 7,311 7,311
BEL] 7,311 7,311
o4 ¥ 2o I 4,000
OReld WEME 450,000& = 83l 3,600
Ox=2& 400 * 500 * 23l 400
(O)CIPSE= =1 RSN
3,700 * 48 * 50 * 128 888




SN CABBMSSES BASSD
M s T
E: SEHMIE 2F (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OFAZEE AR2F 1,408
oM IIs&E 1,770& = 50& ~ 123 1,062
OsAgHYIIERES(R24)
3,600& = 84 » 12& 346
oAdzels 228 M 1,015
O& I AHM 69,0003 = 104 690
OXYTHM 25,000 * 1324 325
401 Al HIZ 2018 27,797 7,645 20,152
01 A& HI 27,797 7,645 20,152
OFAANE RANE= 4,7543 « 1,640m 7,797
OBMZE g & A MIA 20,000
Og =3 A 15,296& * 523m’ 8,000
OZMZ A 7.317€0 « 1,640 12,000
405 XHobF S HI 3,000 3,000 0
02 =M=l 3,000 3,000 0
O=JtH M7 12,500& * 240& 3,000
S SYESYT Lot 269,801 275,082 A5,281
HBMsts2d 132,046 133,284 N 1,238
101 @124 Hl 11,726 17,624 A5,898
04 JIZHHZ22XREE S 11,726 17,624 5,898
OGNS T2 29 oy 11,726
OHl&dy BHWSAH Q124
68,280 * 1H * 269 * 63 10,652
OZ0UHASRES 10,652,000& * 4.5% 480
OCAHLZEERE 3 10,652,000& * 3.06% 326
OINLAEEHELES  326,0008 * 6.55% 22
CnEZEzRE3 10,652,000& * 1.5% 160
Ot EEE R ES
10,652,000& * 0.8% 86
201 L2l 108,480 102,200 6,280
01 At 2t 2l 68,180 64,200 3,980
OTMSSTAIZFA S& 10,0008 » 2002 2,000
OZBMSISXAANY EE 285
1,000& * 1,8000H 1,800
OESI#0Il=s sty A+
0,000& = 2A12+ = 8503 34,000
OF=02t0l0l & == 70,000& = 103l 700
OdMsls JIAE HE 10,0008 * 204 200
050607 AEE Seliis 23 10,200
OZ A=< 150,000& » 2A|2+ = 303l 9,000
O Zss g Ixz 600,000& = 23| 1,200
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SN CABBMSSES BASSD
HE: Byss 78
Sl BASSUEND B3 (S &2)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
307 glztol & 9,000 9,000 0
02 I BAAMAEE 9,000 9,000 0
O¥=sts 0SSl 3,000,000 * 39H A 9,000
HHSAAY (CHBBMSI =S BASISD) 193,543 177,059 16,484
el 2l 46,237 50,627 A 4,390
]l 46,237 50,627 A 4,390
101 @124 8] 46,237 50,627 A 4,390
03 RIHLZ 22> 46,237 50,627 A 4,390
oOYgRExd 43,833
OJl=3 (U2 14dEx)
1,989,340& » 1€ » 12& 23,873
O&E=¢ 100,000& = 1& = 128 1,200
OxpR2+Y
16,4108 » 1 * 20A12+ ~ 128 3,939
o254 99,460% * 198 « 128 1,194
OIJtA X 2l 150,000& » 1& = 12& 1,800
O It &l 100,000& » 1H = 20 2,000
OGEF It 1,989,340% * 65% * 23 2,587
O=gtl 150,000& » 1&# = 12& 1,800
OuS=E X 150,0008 18 « 123 1,800
O&cd=¢ 70,000% * 198 « 128 840
oJlg=+¢ 150,000& = 1F = 12& 1,800
odtdo=s 1,000,000& = 1& * 13/ 1,000
O4UAISIEEE JI2RES 2,404
o=tz BE= 23,872,080& * 4.50% 1,075
ONEEEE BY=  23,872,080& * 1.50% 359
OdZdEEgs FE=  23,872,080& * 3.06% 731
OFINQALEE FE3 730,480 * 6.55% 48
Ot Ml 28z 223
23,872,080& * 0.8% 191
Jl=23dl 147,306 126,432 20,874
Jl=23dHl 147,306 126,432 20,874
201 fet2E | 114,514 108,312 6,202
01 At 2t 2l bl 36,553 31,341 5,212
OJlzgRd3 500,000& * 13¥ 6,500
osgH (O1&24l)
8,000& * 168 = 8¢ = 12& 12,288
OFAZE 22= 120,000& * 2& = 23 480
odzEr=g 804
(OX3 9N 15,0003 = 1JHAL = 12 180
OX&XR 13,0003 = 44 AL = 128 624




CHTBMSEES BasST
HHSATL (CHBEMSSES BYSST)
Jl2&dl )
SA BB O () - MM - HES il 2
O&I| etdze| HH+=+2 2650008 = 128 3,180
OdI BIIEH =2 727,000& = 13l 727
©5YI| oEBel HY+4R
150,000& = 12& 1,800
Os&I| HIIZEA =& 130,000& * 13l 130
Os4&ZEH 2l === 300,000& 128 3,600
OAZOIM 2|8 £42 317,008 * 128 3,804
OBANDOIZH AL 442
270,000& = 12& 3,240
02 2322l 77,961 76,971 990
ORERS 1,364
Ooget 300& * 2508 « 12& 900
OS2l 1,930& * 20& » 12& 464
(OFSEcIR A=, 30,000& = 12& 360
oOXIRS 2,700,000& * 12& 32,400
Q& -ot==a 400,000& = 12& 4,800
ONERLFLI (22, 2H)
1,300,000& = 13| 1,300
ONAMEBAL==Z 30,000& = 13 30
o2& "3l 300
Ofgael Xt 40,000& = 13l 40
Ogtstatel Xt 50,000& = 13| 50
OAgrotd™ el &t 210,000& = 13l 210
OAOIESTV =4 = 35,0003 = 2CH » 12& 840
OA& &8I R XHl 10,104
oY -2 AL
45,0003 * 90K = 12& 4,860
O#HF MR X2 5,244
&= A 3,500,000& = 108 = 6% 210
&= A 4,500,000& = 100 » 6% 270
M2 SESEH sA2ell
14,400,000& * 6% 864
2T YEIY KA Be
65,000,000& * 6% 3,900
O Xt& = Xl 4,900,000& * 1 4,900
(OPSEENEP=EN 800,000& = 23| 1,600
O&E A 2| 76% * 5,358m * 63 2,444
OdsE FA 14,0003 * 66.6& » 13l 933
oOHHIIR AZHI(SR)
8273 * 4AIZ2t » 20 * 100 662
OZHOlIXl RXl2e] 18,300,000& * 8% 1,464
Od&NEE IHY 23 14,460
Osld Atgs 1,205,000& * 12& 14,460
202 oddl 24,192 15,120 9,072




SN SARBMSSES BaSSD
MY HHSHAH(CHBEMSSES BMstaR)
ch: JI24dd| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 2L I 24,192 15,120 9,072
©OJ|=Z&H|
20,000& * 14" * 8L * 128 » 90% 24,192
203 YR X Y| 3,600 3,000 600
04 EASHEYRFAH| 3,600 3,000 600
©J|l=% (202! 0Olat) 300,000 ~ 12& 3,600
405 XH&HE S 5,000 0 5,000
01 XA 2B F S| 5,000 0 5,000
OS X (22lAH) 500,000& = 14 500
O9XHARAH) 300,000 = 1504 4,500




